® v C€ Geko Fluid Control GmbH

0038

Geko Union/Geko Fluid Control GmbH
Add: Schwalbenstr.28/2 70794 Filderstadt Germany
Tel: +49 (0) 711-21570744

Fax: +49 (0) 711-21570744

Web:www.geko-union.com Ba” Valve CryogenlC Valve
= malinfo@geko-tnion com High Purity Clean Ball Valve

+ For more details, please visit the GEKO website or call our company G E K D
May.2013.3000 CONTROL-VALVES




GEKDO GKV-243

CONTROL-VALVES 3-WAY/4-WAY MOUNTING TYPE FLANGE END BALL VALVE

« L-PORT&T-PORT&X-PORT —
« BLOW-OUT PROOF STEM/ FULL PORT )‘*

+ 1SO 5211 DIRECT MOUNTING PAD A,
+ TEMPERATURE RANGE: -20 to 180°C 4

-,..‘\ [ I \ E 5 I | | . A
ey [:. 'Eﬂ . - - i ‘GKV-243 PN16/40
vl - AT | — —— + FLANGE DIMENSIONS:
EN 1092-1 TYPE 21 PN16/40(RF SF)

ABOUT GEKO o243 oLSS
GKV-243 CLASS 150#
+ FLANGE DIMENSIONS: ASME B16.5 CLASS150

FLUIB CONTROL GmbH L ST oo

N

o <
OZ2-4
Experience, Responsibility and Innovation Technology BAERINEHSY
NO. PART NAME | MATERIAL | QTY
1 BODY | CF8M 1
4 BALL CF8M 1
Premier Manufacturer of Flow Control & Automation Products 5 STEM | ss316 !
q q q 4
GEKO Valves & Controls, born in Germany, is a well-known professional i S @>> 191 ;zz::; | E:EM :
. 0 . . . . \ 4 -
manufacturer of pneumatic & electric control valve and actuators. Building LJoa \c’oﬁij};J % e e A
. upon professional production capability for more than 60 years and [ S 13 THRUST WASHER | prre | 1
extensive field experience,with sophisticated and most advanced 14 STEM PACKING PTFE. 2!
N . . . . . 3 15 GLAND $5304 1
fabrication process which can provide an excellent basis on optimum ) L ; [— — —
g . . . . ) ‘ \— 19 HANDLE | 55304 1
A solutions to any specific requirements by the user. we offer industrial ball /:':\ * - —— | pLastic 1
: = . valves, gate valves, globe valves, butterfly valves, check valves. Serve : 7 Hi 22 STEM NUT | ss304 1
industries like Chemical, Oil & Gas, Refining, Pulp & Paper, Mining & Minerals, Power Generation O—= H 23 HANDLE WASHER | S5304 1
0 q = — 1
Industries, etc. We have become one of the pioneers of global manufacturers of flow control valve. . N j; ;T[‘E%EL’:‘:JASHER - 223?3 -
o T LA E |
@ /(I\\F T 30 STOP WASHER | S5304 1
Valve and actuator units supplied by Geko Valves&Controls are of superior quality and come up higher G T/ r'nim 53 8 31 O-RING | VITON 1
standard. They improve both performance and safety of your installation, besides, they reduce pollution o S J 32 PACKING FOLLOWER | PTFE+25GF | 1
to the environment and mankind —— - >TOP PIN S5 =t
' . DD ) %6 — 35 BOLT | ss304 | 16
BNxM j —F 36 BOLT WASHER S5304 16
We are a global enterprise, have plants in Germany,Netherland,Korea,China mainland as well as China aix ) ¥
Taiwan .
1/2"~3" CLASS150 DIMENSIONS unit:mm
SIZE |[PORT| L | E | HL| H [ H4 |D | G | J |1 T | F| M N |[z1 | z2 |1s05211
1/2" | 160 |147.4 |1865 | 90 | 890 | 478 |90 | 890 | 605 |350 |112 | 160 | 4 16 |5.o | | | Fo4
3/4* | 200 |155.8 (2180 | 110 | 980 | 582 |90 [986 | 700 |430 |127 |160 | 4 16 |70 | —| ~|FO5.
1* | 250 |168.8 |218.0 | 115 |1020 | 640 | 9.0 (1080 |79.2 |510 |143 160 | 4 16 |7.0 ~"|_—~"| Fos
1-1/4"[ 320 [197.9 2350 | 152 |1185 | 790 |140 (1175 |889 [635 159 |160 | 4 | 16 |90 | 7.0 | Fo5| Fo7
1-1/2" | 380 |2214 (2350 | 143 |1270 | 885 |140 |1270 |986 |732 | 175 | 160 | 4 16 |9.ﬂ 7.0 | FOS | FO7
2 | 500 [24456 [2520 [17.8 [139.0 [1058 [170 [1525 [1207 | 920 [191 |160 | 4 19 110 | 90 | F07 | F10
2-1/2° | 65.0 _Z?U.D _252.0 | 17.5 _165.? _11?.3 _l?.O _l??.E .139? .104.? | 233 | 1.60 | 4 19 !11.0 | 9.0 | FO7 | F10
3" | 800 [2922 |252.0 | 17.5 |170.0 (1280 |17.0 |190.5 (1524 |127.0 (239 |160 | 4 19 110 | 90 | Fo7| F10

DN15~DN80 PN 16 DIMENSIONS

size PoRT| L [ e | wi| KW [Ha| D[ [ |1 |7 F |
DN15 | 160 [1580 1865 | 9.0 | 890 | 478 | 90 [950 |e50 [450 [160 | 20 |
DN20 | 200 [1690 |2180 [115 | 980 | 582 | 9.0 [1050 | 750 [s80 [180 | 20
DN25 | 250 [1850 2180 [ 115 [1020 [ 640 | 90 [1150 850 |es0 [180 | 20
DN32 | 320 |195.0 |2350 | 152 (1185 | 79.0 | 140 |140.0 |1000 |780 |180 | 20
DN40 | 380 |2320 |2350 | 143 |127.0 | 885 | 140 |1500 [1100 [880 |180 | 20 |
DN50 | 50.0 |253.0 |2520 | 17.8 |139.0 1058 | 17.0 [165.0 [1250 [1020 [200 | 20 |
DN65 | 65.0 |270.0 |2520 | 175 |1657 1173 | 17.0 |1850 |145.0 1220 [ 180 | 20 |
| DNBO | 760 |2922 | 2520 | 175 |170.0 1280 | 17.0 |200.0 |160.0 |1380 | 200 | 20 |

N |21 | Z1 |ISO5211
14 | 6.0 | , | FD4
14 | 70| / F50
14 7.0 FO5
18 |50 | 70 | 7B For
18 | 9.0 | 7.0 FOS: FO7
| 18 _11.0 | 9.0 _FO? | F10
_]'_8 11.0 9.0 | FO7 | F10

18 I‘l‘lf]_ 9.0 | Fo7 IFlU 01

R YIS A A A R
-
oo



GKV-243 GKV-243

CONTROL=VALVES 3-WAY/4-WAY ISO 5211MOUNTING FLANGE END BALL VALVE LR LT 3-WAY/4-WAY FULL BORE FLANGE END BALL VALVE

DN100-DN150(4"~6") 3-WAY/4-WAY

GKV-243 PN16/40

L-PORT&T-PORT&X-PORT 4"~6“(DN100,DN1251DN150) MATERIALS LIST

« BLOW-OUT PROOF STEM/ FULL PORT NO. PART NAME MATERIAL QTY
. TEMPERATURE RANGE: -20 to 180°C PN16/PN40, Class150 1 BODY CFeMiCFaWCB | 1
« FLANGE DIMENSIONS: i i i . AL ; L
EN 1092-1 TYPE 21 PN16/40(RF SF) T-PORT,L-PORT,X-PORT : crowers L
« TEST: EN-12266-1
9 END CAP CF8M/CF8/WCB 4
11 BODY SEAL PTFE 4
11-1 TOP SEAL PTFE 1
GKV-243 CLASS 150# 1; i:\aTUST WASHER 2: ‘11
« L-PORT&T-PORT&X-PORT
« BLOW-OUT PROOF STEM/ FULL PORT 14 STEM PACKING PTFE LoET
.« TEMPERATURE RANGE: -20 to 180°C 15 GLAND 55304 !
« FLANGE DIMENSIONS: ASME B16.5 CLASS150 16 BELLEVILLEWASHER | S5304 2
« TEST: API-598 E‘ @ 17 STEM BUSHING PTFE 1
4 18 TAB WASHER SS304 1
19 HANDLE IRON TUBE 1
MATERIALS LIST . 20 BUSHING RTFE 1
Nlo' E’gFgYNAME oy X:;ERG'AEFW QTY ES 21 HANDLE COVER PLASTIC 1
r. 1
4 | BALL ASTM A351 Gr.CFaM| 1 22 STEM NUT 55304 1
5 STEM SS316 1 23 WASHER SS304 1
9 END CAP ASTM A351 Gr.CF8M| 4 855 f.E 24 TRIANGLE STOPPER SS304 1
11 BODY SEAL PTFE 4 28 HANDLE WASHER SS304 1
1112-1 ;’S:TSEAL EII;E 1 29 HANDLE BOLT SS304 1
4
13 | THRUST WASHER PTFE 1 35-1 BODY BOLT $S304 24
14 STEM PACKING PTFE 1 set oNxM 35-2 BOLT NUT SS304 6
E 15 GLAND ASTM A351 Gr.CF8 1 37-1 BOLT NUT SS304 24
15-1 GLAND BUSH SS304 1 37-2 BOLT NUT SS304 6
| 17 STEM BUSHING PTFE 1
i = 7 [ ) 19 HANDLE LRON 1
T o5 ® 20 | BUSHING PTFE 1
(37- 21 HANDLE COVER PLASTIC 1
& E (5- 28 STOP PLATE SS304 1
© L - 9 2 35 BODY BOLT SS304 2
T o — 35-1| BODY BOLT SS304 16and24
35-2 BODY BOLT SS304 4and6
/ \ sé 37 | BOLT NUT SS304 2 DN100~DN150 PN16 unit:mm
o|-|=| 'n_: 37-1 BOLT NUT SS304 16and24
- SIZE PORT | L E H1 |H2 | C | @G| @) | @1 | T F M | ON| OK | Z
0 SRR 37-2|  BOLT NUT 55304 4ands
\ J e ;‘; mgfé’fmm ggigj i DN100 | 100.0 |360.0/600.0/159.0/ 30.0 | 27.0 |220.0/180.0/158.0| 20.0 | 2.0 | 8.0 | 18.0 |125.0| 14.0
— DN125 125.0 1410.0/600.0/210.0| 30.0 | 27.0 | 250.0/210.0/188.0| 22.0 | 2.0 | 80 | 18.0 [125.0| 14.0
L2 D@D [ Rt DN150 | 150.0 |467.0/800.0/239.0| 36.0 | 36.0 |285.0/240.0/ 212.0| 22.0 | 2.0 | 8.0 | 22.0 |140.0| 17.5
L
4“;?;ECIaS;§:'? L E H1 H2 H3 C G ) o1 T F M ON | OK u;itmm DNlOONDNlSO PN4O
4 100 |368.0| 600 | 70.0 | 33.0 [193.0 | 27.0 |228.6 190.5 |157.2| 239 | 1.6 | 8 [19.0 | 125 | M12X1.75P SIZE PORT L E H1 | H2 C 2G a) ol T F M ON | @K Z
> 125 14200 600 | 700 | 330 2330270 |2540 2160|1860 | 240 | 16 | 8 |223 |125 | M12X175P DN100 | 100.0 |360.0/600.0/159.0/ 30.0 | 27.0 |235.0/190.0/158.0| 24.0 | 2.0 | 8.0 | 22.0 |125.0| 14.0
6" 150 [479.4 | 800 | 77.5 | 43.5 |266.0 | 36.0 |279.4 {241.3 |216.0 | 254 | 1.6 8 22.3 | 140 | M16X2.0P
DN125 | 125.0 |410.0/600.0/210.0 30.0 | 27.0 | 270.0/220.0/188.0| 26.0 | 2.0 | 8.0 | 26.0 | 125.0| 14.0
DN100~DN150 PN16 unim DN150 | 150.0 |467.0/800.0/239.0/ 36.0 | 36.0 |300.0/250.0/212.0| 280 | 2.0 | 80 | 26.0 |140.0/ 175
SIZE PORT L E H1 H2 H3 C aG aJ [%]] T F M N K z
DN100 100 360 | 600 | 70.0 | 33.0 |193.0 | 27.0 |220.0 {180.0 {158.0 | 20.0 2.0 8 18 125 M12X1.75P
DN125 125 416 | 600 | 70.0 | 33.0 (233.0 | 27.0 |250.0 |210.0 |188.0 | 22.0 2.0 8 18 125 M12X1.75P " n
DN150 150 473 | 800 | 77.5 |43.5 [266.0 | 36.0 |285.0 |240.0 |212.0 | 22.0 2.0 8 22 140 M16X2.0P 4 6 CLASS 150
DNL00- D150 P4 SIZE PORT | L E HL |[H2 | C ©G| @) | @1 | T F M | ON| @K | zZ
~ unit:mm
sz Troer 1L T T e Te Te Tac o Tar 17 TF Tw Tan Tax . 4" 100.0 |368.0/600.0/159.0| 30.0 | 27.0 [228.6/190.5 157.2| 23.9 | 1.6 | 8.0 | 19.0 |125.0| 14.0
DN100 | 100 | 360 | 600 | 70.0 | 33.0 [193.0 | 27.0 |235.0 |190.0 |158.0 | 24.0 | 20 | 8 | 22 | 125 | M12X1.75P 5" 125.0 |420.0/600.0/210.0| 30.0 | 27.0 | 254.0/216.0/186.0| 240 | 1.6 | 8.0 | 22.3 |125.0/ 14.0
DN125 125 424 | 600 | 70.0 | 33.0 |233.0 | 27.0 |270.0 (220.0 |188.0 | 26.0 2.0 8 26 125 M12X1.75P B
—vise 150 203 200 1775 Taas T2ee0 Tas0 1000 oo lerso 250 1 20 | 5 26 T1e0 | sriexao 6 150.0 |479.4/800.0/239.0| 36.0 | 36.0 |279.4/241.3 216.0| 254 | 1.6 | 8.0 | 22.3 |140.0| 17.5

02 03



GEKO GKV-225 GEKO GKV-225

CONTROL-VALVES FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END CONTROL-VALVES FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

DIMENSIONS
GKV-225 PN16/40
« BLOW-OUT PROOF STEM/ FULL PORT GKV-225 DN15-DN50 PN50 PN16/40, DN65-DN100 PN16 unitmm
« ISO 5211 DIRECT MOUNTING PAD SIZE PORT L E H2 H3 C 2G 2) o1 T F M oN oK | oKl | z-4 | Z71-4
« TEMPERATURE RANGE: -20 to 180°C DN15 1/2" 15.0 115.0 112 85 48 9.0 95.0 65.0 45.0 16.0 2.0 4 14.0 50.0 36.0 7.0 6.0
. DESIGN:EN12516-1 DN20 | 3/4" | 200 |1200 | 112 8.5 62 90 [1050 | 750 | 580 | 180 2.0 4 140 | 500 | 36.0 7.0 6.0
DN25 1 250 [1250 | 136 | 114 64 90 [1150 | 850 | 680 | 180 2.0 4 140 | 500 | 36.0 7.0 6.0
* FLANGE DIMENSIONS: EN 1092-1 TYPE 21 PN16/40(RF SF) DN32 |1-1/4" | 320 1300 | 185 | 114 71 90 [1400 [1000 | 780 | 180 2.0 4 180 | 500 | 36.0 7.0 6.0
+ FACETO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5) DN40 [1-1/2" | 380 |140.0 | 198 | 14.0 76 | 140 1500 |1100 | 88.0 | 18.0 2.0 4 180 | 700 | 50.0 9.0 7.0
+ TEST: EN-12266-1 . DN50 | 2° | 500 |1500 | 198 | 137 | 845 | 140 |1650 |1250 |1020 | 200 | 2.0 4 | 180 | 700 | 500 | 90 | 70
. DN65 |2-1/2" | 640 1700 | 265 | 180 |1068 | 17.0 |1850 |1450 [1220 | 180 2.0 4 180 [1020 | 700 | 110 9.0
GKV-225 CLASS 150# 300# DN80 3" | 760 [1800 | 265 | 180 |1160 |17.0 |2000 |160.0 |1380 | 200 | 2.0 8 180 [1020 | 700 |110 | 90
DN100 4" 11000 [1900 | 325 | 180 [1545 |17.0 [2200 [180.0 [158.0 | 20.0 2.0 8 180 [1020 | 700 | 110 9.0
« BLOW-OUT PROOF STEM/ FULL PORT
. TEMPERATURE RANGE: 20 to 180-C GKV-225 DNGS-DN100 PNAO
. DESIGN:ANSI B16.34 ’ SIZE PORT L E H2 H3 C 2G 2) o1 T F M oN oK | oK1 | z-4 |Z1-4
« FLANGE DIMENSIONS: ASME B16.5 CLASS150 DN65 |2-1/2" | 640 [1700 265 | 180 [1068 |17.0 |1850 [1450 [1220 | 220 2.0 8 180 [1020 | 700 |110 9.0
DN80 3" 760 [1800 265 | 180 |1160 |17.0 [200.0 [160.0 [138.0 | 24.0 2.0 8 180 [1020 | 700 |110 9.0
+ FACETO FACE: ASME B16.1 DN100 | 4" [100.0 [1900 325 | 180 1545 |17.0 2350 [190.0 [1580 | 24.0 2.0 3 220 (1020 | 700 |110 9.0
« TEST: API-598
Pressure test:API 598 GKV-225 1/2"~4"Class150
GKV-225 JIS-10K SIZE PORT L E H2 H3 C 2G 2) I T F M | N | oK oK1 Z-4 | 71-4
DN15 | 1/2" | 150 1080 | 112 8.5 48 9.0 [890 |605 |350 |112 | 16 |4 |160 |50 |Fo5s |36 [F03 | 7.0 6.0
« BLOW-OUT PROOF STEM/ FULL PORT DN20 | 3/4" | 200 [117.0 | 112 8.5 62 9.0 [986 | 700 |430 |127 | 16 | 4 |160 |50 |FO5 |36 [FO3 | 7.0 6.0
+ ISO 5211 DIRECT MOUNTING PAD DN25 | 1" | 250 1270 | 136 | 114 | 64 | 90 1080 | 792 | 510 |143 | 1.6 | 4 | 160 |50 |Fo5 |36 |F03 | 70 | 60
« TEMPERATURE RANGE: -20 to 180°C DN32 |1-1/4" | 320 [1400 | 185 | 114 71 9.0 [1175 | 889 | 635 |159 1.6 4 | 160 |50 |FO5 |36 |FO3 | 7.0 6.0
« DESIGN:ANSIB16.34 DN40 [1-1/2" | 380 [1650 | 198 | 14.0 76 | 140 [1270 | 986 |732 [175 | 16 | 4 [160 |70 |FO7 |50 |FO5 | 9.0 7.0
« FLANGE DIMENSIONS: JIS B2238 10K DN50 2 500 |178.0 | 198 | 137 | 845 | 140 [1525 [1207 [ 920 | 191 | 16 | 4 [190 |70 |F07 [50 |FO5 | 9.0 7.0
. FACE TO FACE: JIS B2002 (ASME B16.1) DN65 |2-1/2" | 640 [1900 | 265 | 180 |1068 | 170 [177.8 |139.7 [1047 |233 | 16 | 4 |19.0 [102 |F10 |70 |[FO7 | 110 | 9.0
. DN80 3" 760 [203.0 | 265 | 180 [1160 |17.0 (1905 [1524 [127.0 | 239 | 16 | 4 | 190 |102 |F10 |70 |FO7 |11.0 | 9.0
* TEST: API-598 DN100 4" 1000 [229.0 | 325 | 180 1545 | 170 2286 |1905 [1572 | 239 | 16 | 8 |19.0 [102 |F10 |70 |FO7 | 110 | 9.0
GKV-225 GB-PN16/40 GKV-225 1/2"~4"Class300
+ BLOW-OUT PROOF STEM/ FULL PORT SIZE PORT | L E H2 | H3 c oG | o o1 T F M | ON oK oKL 74 | 714
* [ISO5211 DIRECT MOUNTING PAD DN15 | 1/2" | 150 |140.0 | 112 8.5 48 9.0 | 953 | 665 | 350 |143 1.6 4 160 |50 |FO5 | 36 |FO3 | 7.0 6.0
« TEMPERATURE RANGE: -20 to 180°C . . DN20 | 3/4" | 200 [1520 | 112 | 85 62 9.0 [1174 | 826 |430 |159 | 16 4 19.1 | 50 |FO5 | 36 [FO3 | 7.0 6.0
© DESIGN:GB/T-12237 z1-4 Kokl | @) N> [Tz 300 Ti7e0 T 1o Tire |71 T o0 Tissa Tone Tess Tao1 T ie T4 Tao1 1o Tros [ 36 Tros T30 0
: E&é';?g E/f\'\C/IIIEE'éSBI/(?I'NISZZ Sf/ T-9113.1 Z-4 i \ @ DN40 |1-1/2" | 380 [190.0 | 198 | 14.0 76 | 140 |[1555 |1143 | 732 [ 206 | 16 4 | 223 |70 |F07 | 50 |FO5 | 9.0 7.0
: DN50 2" 50.0 [216.0 | 198 | 137 | 845 |140 |1651 [1270 | 920 | 224 | 16 8 191 | 70 [Fo7 | 50 [FO5 | 9.0 7.0
« TEST:GB/T-13927 DN65 |2-1/2" | 640 |241.0 | 265 | 180 |1068 | 17.0 |1905 |1494 |1047 | 254 | 16 8 | 223 [102 |F10 | 70 |F07 | 110 | 9.0
[ L[ /7 | DN80 3" | 760 |283.0 | 265 | 180 [116.0 | 17.0 |209.6 |168.1 |127.0 | 286 | 1.6 8 | 223 [102 |F10 [ 70 |F07 | 11.0 | 9.0
\ ;// DN100 | 4" [1000 3050 | 325 | 180 [1545 | 170 [254.0 [200.2 |157.2 | 318 | 1.6 8 | 223 [102 [F10 | 70 [FO7 | 110 | 9.0
@/ /@ GKV-225 10K 15A-100A
c /@ SIZE PORT L E H2 H3 C 2G 2) o1 T F M oN oK | oKL | z4 |Zz1-4
= 12 15A 150 [1080 | 112 8.5 48 90 | 950 |700 |510 | 120 1.0 4 150 | 500 | 36.0 7.0 6.0
S 20A 200 |1170 | 112 8.5 62 90 [1000 | 750 | 560 | 140 1.0 4 150 | 500 | 36.0 7.0 6.0
riEg-‘ 18 25A 250 [1270 | 136 | 114 64 90 [1250 | 900 | 670 | 140 1.0 4 190 | 500 | 36.0 7.0 6.0
( 13 32A 320 [1400 | 185 | 114 71 90 [1350 [1000 | 760 | 160 2.0 4 190 | 500 | 36.0 7.0 6.0
m 7 40A 380 |1650 | 198 | 140 76 | 140 1400 1050 | 81.0 | 16.0 2.0 4 190 | 700 | 500 9.0 7.0
50A 500 |178.0 | 198 | 137 | 845 | 140 [1550 [1200 | 960 | 16.0 2.0 4 190 | 700 | 50.0 9.0 7.0
10 65A 640 [1900 | 265 | 180 [1068 |17.0 [1750 [1400 [1160 | 18.0 2.0 4 190 [1020 | 700 | 110 9.0
] 9 80A 760 |2030 | 265 | 180 [1160 |17.0 [1850 [150.0 [126.0 | 18.0 2.0 8 190 [1020 | 700 | 110 9.0
H3 I 5 100A 100.0 |2290 | 325 | 180 |1545 |17.0 [210.0 [1750 [151.0 | 18.0 2.0 8 190 [1020 | 700 | 110 9.0
19
0G OJ Ol PORT \® GKV-225 GB DN15-DN50 PN16/40, DN65-DN100 PN16
~— \® SIZE PORT L E H2 H3 C 2G 2) o1 T F M oN oK | oKL | z4 |Zz1-4
DN15 | 172" | 150 [1300 | 112 8.5 48 90 | 950 | 650 | 460 | 140 2.0 4 140 | 500 | 36.0 7.0 6.0
fﬂkx_ 2 DN20 | 3/4" | 200 [1300 | 112 8.5 62 90 [1050 | 750 | 560 | 160 2.0 4 140 | 500 | 36.0 7.0 6.0
) — \@ DN25 1 250 [1400 | 136 | 114 64 90 [1150 | 850 | 650 | 160 2.0 4 140 | 500 | 36.0 7.0 6.0
\Mx[] N \® DN32 |1-1/4" | 320 |1650 | 185 | 114 71 90 [1400 [1000 | 780 | 180 2.0 4 180 | 500 | 36.0 7.0 6.0
DN40 |1-1/2" | 380 |1650 | 198 | 14.0 76 | 140 1500 |1100 | 840 | 20.0 2.0 4 180 | 700 | 50.0 9.0 7.0
F$7Ta$ \@ DN50 2 500 2030 | 198 | 137 | 845 |140 [1650 [1250 |99.0 | 200 2.0 4 180 | 700 | 50.0 9.0 7.0
L \® DN65 |2-1/2" | 640 2220 | 265 | 180 |1068 | 17.0 |1850 [1450 [118.0 | 20.0 2.0 4 180 [1020 | 700 | 110 9.0
DN80 3" 760 |2410 | 265 | 180 [1160 |17.0 [200.0 [160.0 [132.0 | 20.0 2.0 8 180 [1020 | 700 | 110 9.0
DN100 4" 1000 |3050 | 325 | 180 |[1545 | 170 [220.0 |180.0 [156.0 | 22.0 2.0 8 180 [1020 | 700 | 110 9.0

04 05



06

GKV-225 1/2"~4"

GEKO

CONTROL-VALVES

MATERIALS LIST

GKV-225

FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

mMAXZ

ARk

NO. PART NAME JIS-10K PN16/40 CLASS150/300

1 BODY SCS13 1.4408 1.0619 CF8M WCB

2 BALL SCS13 CF8M CF8 SS316 CF8

3 STEM 55304 SS316 55304 SS316 SS316

4 END CAP SCS13 14408 11.0619 CF8M WCB

5 BODY SEAL PTFE. PTFE. PTFE. PTFE. PTFE.

6 SEAT RTFE. RTFE. RTFE. RTFE. RTFE.

7 THRUST WASHER PTFE. PTFE. PTFE. PTFE. PTFE.

8 STEM PACKING PTFE. PTFE. PTFE. PTFE. PTFE.

9 THRUST WASHER RTFE.+25%G.F. RTFE.+25%G.F. RTFE.+25%G.F.
10 GLAND 55304 SS304 55304 55304 $S304
11 HANDLE SS304 SS304 SS304 S5304 SS304
12 HANDLE COVER PLASTIC PLASTIC PLASTIC PLASTIC PLASTIC
13 STEM NUT 55304 S5304 55304 55304 SS304
14 HANDLE WASHER SS304 SS304 S5304 55304 $S304
15 HANDLE NUT 55304 SS304 55304 55304 SS304
16 LOCKING PAD SS304 SS304 S5304 S5304 §S304
17 BELLEVILLE WASHER SS304 SS304 55304 55304 $S304
18 STOP WASHER 55304 S5304 55304 55304 S5304
19 STEM O-RING VITON VITON VITON VITON VITON
20 STOP 55304 S5304 SS304 55304 SS304
21 STUD A193 Gr.B8 A193 GrB8 A193 GrB8 A193 GrB8 A193 GrB8
22 NUT A194 Gr.8 A194 Gr.8 Al194 Gr.8 Al194 Gr.8 A194 Gr.8

Straight Port

15° V-Prot

< >

&

&

30° V-Prot

60°

60° V-Prot

GEKO

CONTROL-VALVES

GKV-225

FULL PORT TWO-PIECE DIRECT MOUNTING PAD BALL VALVE FLANGE END

®

GKV-225 DN125-DN150
PN16/PN40(EN-1092)
Class150/300(ASME-B16.5)
JIS-10K(JIS-B2238)
PN16,GB/T9113.1

MATERIALS LIST

16 NO.| PART NAME MATERIAL
1| BODY CF8M/1.4408/CF8/1.4308/WCB/1.0619
. 1 2 | BALL CF8M/CF8
” 3 | STEM S$S316/304
—H1 4 | ENDCAP CF8M/1.4408/CF8/1.4308/WCB/1.0619
{1 1 5 | BODYSEAL PTFE.
[ I} — = 6 | SEAT RTFE.
7 | THRUST WASHER RTFE.
17 8 | STEM PACKING RTFE.
” 9 | THRUST WASHER PTFE.+25%G.F.
: 10 | GLAND SS304
H3 9 8 11 | HANDLE FCD45
B 13 | STEMNUT SS304
e, 14| BOLT 55304
7 15 | TRIANGLE STOPPER SS304
16 | HANDLE WASHER SS304
9G @) @I PORT 18 STEM O-RING VITON
e 19 | sSTOP SS304
20 | STUD ASTM A193 Gr.B8
4 () 21| NUT ASTM A194 Gr.8
\M N V-Ball
T —f] 4
GKV-225 PN16, DN125~DN150(EN-1092-1) unitmm
SIZE PORT L E H1 H3 C oG ) o1 T F M N oK1 | 71-4
DN125 5" 1250 | 3250 | 7500 | 300 | 1940 | 270 | 2500 | 2100 | 1880 | 220 2.0 8 180 | 1250 | 14.0
DN150 6" 150.0 | 350.0 | 7500 | 300 | 213.0 | 27.0 | 2850 | 2400 | 2120 | 220 2.0 8 220 | 1250 | 140
GKV-225 PN40, DN125~DN150(EN-1092-1) unit:mm
SIZE PORT L E H1 H3 C oG 2) o1 T F M oN oK1 | 71-4
DN125 5" 1250 | 3250 | 7500 | 300 | 1940 | 270 | 2700 | 2200 | 1880 | 26.0 2.0 8 260 | 1250 | 140
DN150 6" 150.0 | 350.0 | 7500 | 300 | 213.0 | 27.0 | 300.0 | 250.0 | 2180 | 28.0 2.0 8 260 | 1250 | 140
GKV-225 150#,5"~6"(ASME-B16.5 Class150) unitmm
SIZE PORT L E H1 H3 C oG 2) o1 T F M oN oK1 | 71-4
DN125 5" 1250 | 3560 | 7500 | 300 | 1940 | 270 | 2540 | 2160 | 186.0 | 24.0 16 8 223 | 1250 | 140
DN150 6" 150.0 | 3940 | 7500 | 300 | 213.0 | 270 | 2794 | 2410 | 2160 | 254 16 8 223 | 1250 | 140
GKV-225 300#,5"~6"(ASME-B16.5 Class300) unitmm
SIZE PORT L E H1 H3 C oG 2) o1 T F M N oKL | 71-4
DN125 5" 1250 | 3810 | 7500 | 300 | 1940 | 27.0 | 2794 | 2350 | 1880 | 35.0 16 8 223 | 1250 | 140
DN150 6" 1500 | 4030 | 7500 | 300 | 213.0 | 270 | 317.5 | 269.8 | 2160 | 366 16 8 223 | 1250 | 140
GKV-225 10K,125A~150A(JIS-B2238 10K) unit:mm
SIZE PORT L E H1 H3 C oG 2) o1 T F M oN oK1 | 71-4
125A 5" 1250 | 3560 | 7500 | 300 | 1940 | 270 | 250.0 | 2100 | 186.0 | 20.0 2.0 8 230 | 1250 | 140
150A 6" 150.0 | 3940 | 7500 | 300 | 213.0 | 27.0 | 280.0 | 2400 | 2120 | 220 2.0 8 230 | 1250 | 140
GKV-225 PN16,DN125~DN150(GB/T9113.1) unitmm
SIZE PORT L E H1 H3 C 26 2) o1 T F M oN oKL | 71-4
DN125 5" 1250 | 356.0 | 7500 | 300 | 1940 | 270 | 250.0 | 2100 | 188.0 | 22.0 2.0 8 180 | 1250 | 140
DN150 6" 150.0 | 3940 | 7500 | 300 | 213.0 | 270 | 2850 | 2400 | 2120 | 220 2.0 8 220 | 1250 | 140 07




08

GEKO

CONTROL-VALVES

GKV-225L

GKV-225L~DN15 DN100(1/2"~4")

* BLOW-OUT PROOF STEM/ FULL PORT
« ISO 5211 MOUNTING FLANGE
« TEMPERATURE RANGE: -20 to 180°C

GKV-225L PN16/PN40

« DESIGN:EN12516-1

* FLANGE DIMENSIONS: EN 1092-1 TYPE 21 PN16/40(RF SF)
» FACETO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5)

e TEST: EN-12266-1

GKV-225L 150# 300#

o DESIGN:ANSIB16.34

 FLANGE DIMENSIONS: ASMEB16.5 CLASS150/300
» FACE TO FACE: ASME B16.1

» TEST: API-598

GKV-225L 10K

« DESIGN:ANSIB16.34

e FLANGE DIMENSIONS: JISB2238
10K

» FACE TO FACE: JISB2002 (ANSIB16.1)

FULL PORT TWO-PIECE BALL VALVE FLANGE END

From 2-1/2 with pipe handie for
long term&smooth usage

e =

="

w @

Z-4 > aC
e r—
oK
G
— (19 I
& )
=y .
) |
— E
\w
19
@G @ @l PORT
N\%
i NV
— Mx2N DE [

-

DRAWING FOR 2"TO 4"

GEKO

CONTROL-VALVES

GKV-225L

FULL PORT TWO-PIECE BALL VALVE FLANGE END

GKV-225L DN15~DN100 ( 1/2"~4")
GKV-225L PN16/40 DN15-DN50

unitmm

SIZE PORT L E H H2 H4 C aY 2G [4))] [%)1 T F M @N oK Z
DN15 1/2" 15.0 |115.0 [132.0 | 80.0 8.5 38.5 9.0 11.2 950 | 650 |450 |16.0 2.0 4 140 | 420 M5*0.8P
DN20 3/4" 20.0 |[120.0 |[132.0 | 84.5 8.5 42.5 9.0 112 |1050 | 750 |580 |18.0 2.0 4 140 | 420 M5*0.8P
DN25 1" 25.0 |[125.0 |[166.0 [102.0 | 12.0 520 |11.0 |143 |[1150 |85.0 |68.0 | 18.0 2.0 4 140 | 50.0 M6*1.0P
DN32 11/4" | 32.0 |[130.0 |[166.0 |105.0 |12.0 560 |11.0 |143 |[140.0 |100.0 | 78.0 | 18.0 2.0 4 18.0 | 50.0 M6*1.0P
DN40 11/2" | 38.0 |[140.0 (1980 (1250 |120 | 653 |140 |[180 |150.0 |110.0 | 88.0 | 18.0 2.0 4 18.0 | 70.0 | M8*1.25P
DN50 2" 50.0 |[150.0 (198.0 (1320 |120 |738 |140 |[180 |1650 |1250 |102.0 | 20.0 2.0 4 18.0 | 70.0 | M8*1.25P
GKV-225L PN16/40 DN65-DN100

SIZE PORT L E H H2 H4 C [2)4 G [4)] [4) T F M ON oK z
DN65 21/2" | 64.0 [170.0 [300.0 (1780 |23.0 |925 |170 |223 (1850 |1450 |122.0 | 18.0 2.0 4 18.0 |(102.0 | M10*1.5P
DN80 3" 76.0 |180.0 |300.0 |188.0 | 23.0 (1017 |17.0 |223 {2000 |160.0 |138.0 | 20.0 2.0 8 18.0 (102.0 | M10*1.5P
DN100 4" 100.0 |190.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |223 |220.0 |180.0 |158.0 | 20.0 2.0 8 18.0 |(102.0 | M10*1.5P
GKV-225L 1/2"~4" (ANSI-Class 150#)

SIZE PORT L E H H2 H4 C [9)4 G @) [4)) T F M ON oK z
DN15 1/2" 150 |108.0 [132.0 | 80.0 8.5 38.5 6.4 9.6 89.0 | 605 |350 |11.2 1.6 4 16.0 | 420 M5*0.8P
DN20 3/4" 20.0 |117.0 [132.0 | 84.5 8.5 42.5 6.4 9.6 98.6 |70.0 |430 |127 1.6 4 16.0 | 42.0 M5*0.8P
DN25 1" 250 [127.0 [166.0 [102.0 | 12.0 | 52.0 80 |11.2 |1080 | 79.2 |510 | 143 1.6 4 16.0 | 50.0 M6*1.0P
DN32 11/4" 320 |(140.0 |[166.0 (1050 |12.0 | 56.0 80 |[11.2 1175 | 889 |63.5 |159 1.6 4 16.0 | 50.0 M6*1.0P
DN40 11/2" 38.0 |165.0 |198.0 |125.0 | 120 | 65.3 9.5 160 [127.0 | 986 | 73.2 |175 1.6 4 16.0 | 70.0 | M8*1.25P
DN50 2" 50.0 |[178.0 |[198.0 |[132.0 | 120 | 73.8 9.5 16.0 |152.5 [120.7 | 92.0 19.1 1.6 4 19.0 70.0 | M8*1.25P
DN65 21/2" | 640 [190.0 (300.0 (178.0 |23.0 |925 |17.0 |280 (177.8 |139.7 |104.7 | 233 1.6 4 19.0 |[102.0 | M10*1.5P
DN80 3" 76.0 |203.0 |300.0 |188.0 | 23.0 (1017 |17.0 |280 |190.5 |1524 |127.0 | 239 1.6 4 19.0 |(102.0 | M10*1.5P
DN100 4" 100.0 |229.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |28.0 |2286 |191.0 |157.2 | 23.9 1.6 8 19.0 |[102.0 | M10*1.5P

GKV-225L 1/2"~4" (ANSI-Class 300#) unit-mm
SIZE PORT L E H H2 H4 C [9)% G [4)] (%) T F M ON oK z
1/2" 150 (1400 |1320 | 80.0 8.5 38.5 6.4 9.6 95.3 66.5 35.0 14.3 1.6 4 16.0 42.0 M5*0.8P
3/4" 20.0 |[152.0 |132.0 | 84.5 8.5 42.5 6.4 9.6 |1174 | 826 43.0 15.9 1.6 4 19.1 42.0 M5*0.8P

1" 250 |[165.0 |166.0 |102.0 | 12.0 52.0 8.0 11.2 |1240 | 889 51.0 17.5 1.6 4 19.1 50.0 M6*1.0P
11/4" 320 (1780 |166.0 |105.0 | 12.0 56.0 8.0 11.2 |1334 | 986 63.5 19.1 1.6 4 19.1 50.0 M6*1.0P
11/2" 38.0 (190.0 |198.0 |125.0 | 12.0 65.3 9.5 16.0 |155.5 |114.3 | 73.2 20.7 1.6 4 22.3 70.0 M8*1.25P
2" 50.0 |216.0 (198.0 |132.0 | 12.0 73.8 9.5 160 |165.1 |127.0 | 92.0 22.3 1.6 8 19.1 70.0 M8*1.25P
21/2" 64.0 [241.0 |300.0 |178.0 | 23.0 92.5 17.0 |28.0 |190.5 |1494 (1047 | 254 1.6 8 223 1020 | M10*1.5P
3" 76.0 [283.0 |300.0 |188.0 | 23.0 (1017 |17.0 |280 [209.6 |168.1 |[127.0 | 28.6 1.6 8 223 1020 | M10*1.5P
4" 100.0 |305.0 |450.0 (202.0 | 23.0 |119.0 |17.0 |[28.0 |254.0 [200.2 |157.2 | 31.8 1.6 8 223 1020 | M10*1.5P

GKV-225L 10K 15A-100A(JIS-10K)

SIZE PORT L E H2 H4 C QY G @) [4)} T F M ON K VA
15A 1/2" 150 |[108.0 [132.0 | 80.0 8.5 38.5 6.4 9.6 950 |70.0 |51.0 |120 1.0 4 150 |42.0 M5*0.8P
20A 3/4" 20.0 |[117.0 [132.0 | 84.5 8.5 42.5 6.4 9.6 (1000 | 750 |56.0 |14.0 1.0 4 150 | 420 M5*0.8P
25A 1" 25.0 |[127.0 |166.0 [102.0 | 12.0 52.0 8.0 |[11.2 1250 |90.0 |67.0 |14.0 1.0 4 19.0 | 50.0 M6*1.0P
32A 11/4" 32.0 |140.0 |166.0 |105.0 | 12.0 56.0 80 |11.2 |1350 |100.0 | 76.0 | 16.0 2.0 4 19.0 | 50.0 M6*1.0P
40A 11/2" 380 |165.0 |[198.0 (1250 | 120 | 65.3 9.5 16.0 |140.0 |105.0 | 81.0 | 16.0 2.0 4 19.0 |70.0 | M8*1.25P
50A 2" 50.0 |178.0 [198.0 |[132.0 | 120 | 73.8 9.5 16.0 |155.0 [120.0 | 96.0 16.0 2.0 4 19.0 70.0 | M8*1.25P
65A 21/2" | 64.0 |190.0 (300.0 (178.0 |23.0 |925 |170 |28.0 (1750 (1400 |116.0 | 18.0 2.0 4 19.0 |(102.0 | M10*1.5P
80A 3" 76.0 [203.0 [300.0 [188.0 | 23.0 |101.7 |17.0 |280 |185.0 |150.0 |126.0 | 18.0 2.0 8 19.0 |[102.0 | M10*1.5P

100A 4" 100.0 |229.0 |450.0 |202.0 | 23.0 |119.0 |17.0 |280 |210.0 |1750 |151.0 | 18.0 2.0 8 19.0 |(102.0 | M10*1.5P

09



GEKO

GKV-225L

CONTROL-VALVES FULL PORT TWO-PIECE BALL VALVE FLANGE END

10

#

GKV-225L DN15~DN100(1/2"~4")

V-BALL FOR MODULATING CONTROLLER

& @ (@ @
Straight Port 30° V-Prot 45° V-Prot 60° V-Prot
NO. PART NAME PN16/40 Class150/300 JIS-10K QTY
1 BODY 1.4408 1.0619 CF8M WCB SCS14 SCPH2 1
4 BALL 1.4408 1.0619 CF8M CF8 SCS14 SCS13 1
5 STEM $S316 55304 SS316 SS304 | SS316 SS304 1
9 END CAP 1.4408 1.0619 CF8M WCB SCS14 SCPH2 1
11 BODY SEAL PTFE. 1
12 SEAT RTFE. 2
13 THRUST WASHER PTFE. 1
14 STEM PACKING PTFE. 1SET
15 GLAND BUSH 55304 1
19 HANDLE LRON 1
20 SET BOLT SS304 2
21 HANDLE COVER PLASTIC 1~2
24 HANDLE NUT S5304 1
28 STOP PLATE SS304 1
29 BELLEVILLE WASHER 55301 2
30 TAB WASHER SS304 1
33 STOP PIN S5304 1
35 BODY BOLT A193 Gr.B8 | A193 Gr.B7 6~8
37 BOLT NUT A193Gr8 | A193 Gr2HM 6~8
50 HANDLE ADAPTER ASTM A351 Gr.CF8 1

GEKO

CONTROL-VALVES

GKV-225L

FULL PORT TWO-PIECE BALL VALVE FLANGE END

GKV-225L DN125~DN150(5"~6")

+ BLOW-OUT PROOF STEM/ FULL PORT
» ISO 5211 MOUNTING FLANGE
« TEMPERATURE RANGE: -20 to 180°C

GKV-225L PN16/PN40

o DESIGN:EN12516-1

 FLANGE DIMENSIONS: EN 1092-1TYPE 21 PN16/40(RF SF)
» FACETO FACE:EN 558-1 F4/F5(DIN 3202 F4/F5)

o TEST: EN-12266-1

GKV-225L 150# 300#

» DESIGN:ANSIB16.34

» FLANGE DIMENSIONS: ANSIB16.5 CLASS150/300
« FACETO FACE: ANSIB16.1

o TEST: API-598

GKV-225L 10K
» DESIGN:ANSIB16.34
+ FLANGE DIMENSIONS: JIS B2238 10K

« FACETO FACE:JISB2002 (ANSIB16.1) 0 =
o TEST: API-598 8 Jii
(
15
41
= i
12 13
5
MxgN
H1
@G 2J @1 PORT
p A
—Y
\ 7 1 H
—l—F
® @ @ 37
T
L
MATERIALS LIST
NO. PART NAME PN16/40 150# ,300# JIS-10K QTY
1 BODY 1.4408 1.0619 CF8M WCB SCS14 SCPH2 1
4 BALL 1.4408 CF8 CF8M CF8 SCS14 SCS13 1
5 STEM SS316 SS304 SS316 S5304 SS316 SS304 1
9 END CAP 1.4408 1.0619 CF8M WCB SCS14 SCPH2 1
11 BODY SEAL PTFE. 1
12 SEAT PTFE. 2
13 THRUST WASHER PTFE. 1
14 STEM PACKING PTFE. 1SET
15 GLAND CF8 1
15-1 GLAND BUSH SS304 1
19 HANDLE LRON 1
20 SET BOLT 55304 1
21 HANDLE COVER PLASTIC 1
28 STOP PLATE SS304 1
35 BODY BOLT A193 GrB8 / A193 Gr.B7 8
37 BOLT NUT A194Gr8 / A193 Gr.2HM 8
41 SNAP RING SS304 1
42 GLAND BOLT SS304 2
50 HANDLE ADAPTER S5.304 1

11



GEKDO GKV-225L

CONTROL-VALVES FULL PORT TWO-PIECE BALL VALVE FLANGE END

GEKO

CONTROL=VALVES ONE-PIECE FULL PORT BALL VALVE FLANGE END

GKV-225L DN125~DN150(5"~6")

ANSICLASS 150, PN16

GKV-225L PN16 DN125-DN150 unit:mm oY

SIZE PORT | L E HL | H2 | H4 | c |oY |@G | @ | o | T F M | BN | oK z e —— /: FK
DN125 | 5" ]1250 |325.0 |600.0 |233.0 | 450 [163.0 | 23.0 | 36.0 |250.0 |210.0 [188.0 [ 220 | 20 | 8 |180 | 125 | M12*L75P |
DN150 | 6" ]150.0 |350.0 |800.0 | 259.0 | 45.0 1825 | 23.0 | 36.0 |285.0 |240.0 [2120 [220 | 20 | 8 |220 | 125 | M12*L75P _ N oX

Ao [ J

GKV-225L PN40 DN125-DN150 unitmm J J

SIZE PORT | L E | HL [ H2 | H4 [ c oY |oG |[@ | @ | T F M | oN | oK z
DN125 | 5" ]1250 |325.0 |600.0 [233.0 | 450 [163.0 | 23.0 | 36.0 |270.0 |220.0 [1880 [26.0 | 20 | 8 | 260 | 125 | M12*175P _ o

3 -M E—

A

[9)
[-**O

DN150 6" |150.0 |350.0 |800.0 | 259.0 | 45.0 |182.5 | 23.0 | 36.0 [300.0 |250.0 |218.0 | 28.0 | 2.0 8 26.0 | 125 | M12*1.75P

GKV-225L15 Class150 5"-6" unit:mm
SIZE PORT L E H1 H2 H4 C QY G [4)] [%)1 T F M ON oK A

DN125 5" ]125.0 |325.0 |600.0 | 233.0 | 45.0 |163.0 | 23.0 | 36.0 |254.0 |216.0 |186.0 | 24.0 | 16 8 223 | 125 | M12*1.75P

DN150 6" [150.0 |394.0 [800.0 | 259.0 | 45.0 |182.5 | 23.0 | 36.0 [2794 |241.3 |216.0 | 254 | 1.6 8 223 | 125 | M12*1.75P

5 e oo
I]P |

GKV-225L15 Class300 5"-6" unit:mm
SIZE PORT | L E HL | H2 | H4 cC |ov |oc | @ a1 T F M | ON | oK z @
DN125 | 5" |125.0 |381.0 [600.0 |233.0 | 450 |163.0 | 23.0 | 36.0 |279.4 |235.0 |186.0 | 350 | 16 8 | 223|125 | M12*1.75P V[‘ e
DN150 | 6" |150.0 |403.0 [800.0 |259.0 | 450 |182.5 | 23.0 | 36.0 |317.5 |269.8 |216.0 | 366 | 1.6 | 12 | 223 | 125 | M12*1.75P @\ /@ 1 H1
H5
GKV-225L 10K JIS-10K unitmm 8 — H
SIZE PORT | L E HL | H2 | H4 C oY | 9G | @) o1 T F M | ON | oK z DN15~DNI150 (1/2" ~6" ) ®/ /@H4
DN125 | 5" |125.0 |325.0 |600.0 |233.0 | 45.0 |163.0 | 23.0 | 36.0 |250.0 |210.0 |182.0 | 20.0 | 2.0 8 |230 | 125 | M12*1.75P FULL PORT ONE-PIECE BALL VALVE FLANGE END
DN150 | 6" |150.0 |394.0 [800.0 |259.0 | 450 |182.5 | 23.0 | 36.0 |280.0 |240.0 [212.0 | 22.0 | 2.0 8 | 230 | 125 | M12*1.75P BLOW-OUT PROOF STEM/ FULL PORT
ISO 5211 MOUNTING DEVICE POXRT 6
TEMPERATURE RANGE: -20 to 180C
FLANGE DIMENSIONSS : (4
EN 1092-1PN16 \@
@ ANSIB16.5 CLASS 150 @
TEST : EN-12266-1 = \(: )
API-598 -'Fi
%L%

GKV-212 PN16 DIMENSIONS

L o unit:mm
{@ﬁ‘@ SIZE PORT | L E H HL | H4 | H5 | C | oXx | oY | @G | @ ol | T F | ok | N

m Q DNI15 | 1/2° | 15 | 35 | 116 | 70 | 192 | 32 | 105 | 635 | 25 | 96 | 95 | 65 | 45 | 70 | 2 | 36 | m12
DN20 | 3/4" | 20 | 38 | 116 | 74 | 165 | 38 | 75 | 635 | 25 | 96 | 105 | 75 | 58 | 70 | 2 | 36 | mM12
= @ DN25 | 1" 25 | 44 | 165 | 75 | 175 | 42 | 75 | 635 | 25 | 96 | 115 | 85 | 65 | 75 | 2 | 36 | M12
e DN32 | 1-1/4" | 32 | 54 | 165 | 87 | 240 | 50 | 120 | 80 | 32 | 112 | 140 | 100 | 78 | 170 | 2 | 42 | M6
= @ DN40 | 1-1/2" | 38 | 62 | 193 | 90 | 240 | 54 | 120 | 80 | 35 | 112 | 150 | 110 | 88 | 190 | 2 | 50 | Ml6
Q DN5O | 2 50 | 80 | 193 | 99 | 240 | 62 | 120 | 80 | 35 | 112 | 165 | 125 | 102 | 195 | 2 | 50 | M16
§.?1.= @ DN65 | 2-1/2"| 64 | 101 | 235 | 141 | 255 | 82 | 145 | 95 | 53 | 16 | 185 | 145 | 122 | 170 | 2 | 70 | Ml6
=3 DN8O | 3" 76 | 118 | 235 | 150 | 255 | 91 | 145 | 95 | 53 | 16 | 200 | 160 | 138 | 200 | 30 | 70 | M16
/@ DN100 | 4 96 | 150 | 266 | 172 | 490 | 107 | 240 | 17 | 55 | 28 | 220 | 180 | 158 | 21.0 | 30 | 102 | M16
<D DN125 | 5 | 118 | 179 | 400 | 205 | 500 | 117 | 310 | 17 | 55 | 28 | 250 | 210 | 188 | 220 | 30 | 102 | M16
@ DNIS0 | 6 | 135 | 202 | 600 | 220 | 500 | 130 | 310 | 17 | 60 | 28 | 285 | 240 | 212 | 220 | 30 | 125 | M20

= GKV-212 150#DIMENSIONS unitmm

— )
\__/. SIZE DN 1S0-5211 L E H | HL| H4 | H5 | C | oY | @G | @ | o T F | &k |oN

y 12" 15 F03 35 | 116 | 70 | 192 | 32 | 105 | 635 | 96 | 89 | 605 | 35 | 70 | 1.6 | 36 | 1/2°

3/4" 20 F03 38 | 116 | 74 | 165 | 38 | 75 | 635 | 96 | 986 699 | 43 | 70 | 16 | 36 | 1/2"

I 25 F03 42 | 165 | 75 | 175 | 42 | 75 | 635 | 96 |1080| 792 | 51 | 75 | 16 | 36 | 1/2"

1-1/4" 32 FO4 54 | 165 | 87 | 240 | 50 | 120 | 80 | 112 | 1175 889 | 635 | 159 | 16 | 42 | 5/8"

112" | 40 FO5 62 | 193 | 90 | 240 | 54 | 120| 80 | 112 |1270] 986 | 732 | 175] 16 | 50 |5/8"

2" 50 FO5 80 | 193 | 99 | 240 | 62 | 120 | 80 | 112 | 1525|1207 | 92 | 191| 1.6 | 50 |5/8"

o ezl 212" | 6 FO7 101 | 235 | 141 | 255 | 82 | 145 | 95 | 160 | 177.8 | 1397 |1047 | 223 | 16 | 70 |5/8

3 3" 80 Fo7 118 | 235 | 150 | 255 | 91 | 145 | 95 | 160 | 1905 |1524 |127.0 | 239 | 16 | 70 | 5/8"

; 4 100 F10 153 | 266 | 172 | 490 | 107 | 240 | 170 | 280 | 2286|1905 |157.2 | 239| 1.6 |102 | 5/8"

12 13



GEKDO GKV-212

CONTROL-VALVES ONE-PIECE FULL PORT BALL VALVE FLANGE END

GEKDO GKV-237

CONTROL-VALVES  FULLPORT THREE-PIECE MOUNT DIRECT TYPE FLANGE END BALL VALVE

« ISO 5211 DIRECT MOUNTING PAD

« BLOW-OUT PROOFSTEM

 WORKING PRESSURE(CWP) :PN16 bar/PN40 bar
« TEMPERATURE RANGE: -20 to 180°C

» LOCKING DEVICE

6/0 « END FLANGE DIMENSION:
$’\‘7’ DIN 2543 PN16/DIN 2545 Pn40 (EN 1092-1 RF)
\9) . FACETO FACE:EN 558-1/F1
Q 1 o oK1 [
Z- 71-4
l S
11 11 1 MATERIALS LIST
L L NO. PART NAME MATERIAL
1 BODY 1.4408 / EN1503-1
4 BALL CF8M / EN1503-2
5 STEM SS316
9 END CAP 1.4408 / EN1503-1
;g 2 24 12 SEAT RTFE.
E4-‘ 13 THRUST WASHER RTFE.
15 14 STEM PACKING RTFE.
32 15 GLAND BUSH SS304
e 19 HANDLE SS304
14 —1 | & 21 HANDLE COVER VINYL GRIP
31 ) 22 STEM NUT SS304
3 p==1a gl 24 HANDLE NUT SS304
28 LOCKING PAD SS304
5 29 BELLEVILLE WASHER SS304-CSP
(L PORTG12) 0G 30 TAB WASHER 55304
9 31 O-RING VITON
o~ 1| 32 PACKING FOLLWER PTFE.+25GGF
4 L8 B 35 BODY BOLT SS304
e r——1 36 BOLT WASHER SS304
L MxZN @@@ F 37 BOLT NUT SS304
MATERIALS LIST L ﬁ*
NO. PART NAME PN 16 MATERIAL CLASS 150%MATERIAL
1 BODY 1.4408 / EN 1503-1 CF8M,CF8(1.4408)
2 BALL CE8M CF8M
3 STEM 55316 AISI 316 PN16 DIMENSIONS Unit:mm
4 INSERT CAP 14408 / EN 1503-1 CF8M,CF8(1.4408) SIZE PORT] L E H C [ @G ][ @J | @l T F [ Mx@N [ @K [@K1 ] Z-4 [Z1-4] L1
5 BODY SEAL PTFE. PTFE DN15] 1/2" | 15.0 [130.0[112.0] 74.0 | 9.0 | 95.0 | 65.0 | 45.0 [ 16.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 225
6 SEAT PTFE. PTFE DN20| 3/4" | 20.0 [150.0[112.0] 81.0 | 9.0 |105.0| 75.0 | 58.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 27.5
7 THRUST WASHER p— PTFE DN25] 1" 125.0 [160.0[136.0/ 90.5 [ 9.0 [115.0[85.0 [68.0| 18.0 | 2.0 | 4x@14 | 50.0 [ 36.0 | 7.0 | 6.0 | 34.0
5 TN PACKING e DN32 [1-1/4"] 32.0 [180.0/185.0] 98.7 | 9.0 |140.0/100.0] 78.0 | 18.0 | 2.0 | 4x@18 | 50.0 | 36.0 | 7.0 | 6.0 | 425
PTFE. DN40 [ 1-1/2"] 38.0 [200.0[198.0[115.3] 14.0 [150.0[110.0[ 88.0 [ 18.0 | 3.0 | 4x@18 [ 70.0 [ 50.0 | 9.0 [ 7.0 [ 52.0
9 GLAND 55304 AISI 304 DN50| 2" |50.0 |230.0/198.0/124.0] 14.0 |165.0[125.0/102.0] 20.0 | 3.0 | 4x@18 | 70.0 | 50.0 | 9.0 | 7.0 | 63.5
10 HANDEL $5304 AISI 304 DN65 | 2-1/2"] 65.0 |290.0]/267.0]155.0| 17.0 |185.0|145.0[122.0] 18.0 | 3.0 | 4x@18 [102.0| 70.0 | 11.0 | 9.0 | 85.5
11 HANDEL COVER PLASTIC AISI 304 DN80| 3" |80.0 [310.0/267.0[208.5] 17.0 [200.0[160.0]138.0{ 20.0 | 3.0 | 8x@&18 [102.0[ 70.0 | 11.0 | 9.0 [102.0
5 STEM NUT <5300 21304 DN100] 4" |100.0(350.0/322.0[216.7| 17.0 |220.0/180.0/158.0| 20.0 | 3.0 | 8x@18 [102.0] 70.0 | 11.0 | 9.0 |128.5
14 HANDEL NUT $S304 AISI 304
15 BELLEVILLE WASHER $S301 AISI 304
16 STOP PIN 55304 PLASTIC PN40 DIMENSIONS Unitmm
17 HANDLE SLEEVE PLATIC PLATIC SIZE PORT| L E H C oGl @J] @ [ T F [ Mx@N [ OK [@K1 [ Zz-4 [Z1-4] L1
18 STOP BOLT 55304 $5304 DN15] 1/2" | 15.0 [130.0[112.0] 74.0 | 9.0 | 95.0 | 65.0 | 45.0 | 16.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 22,5
19 HANDLE ADAPTER Crs Cr8 DN20| 3/4" | 20.0 [150.0/112.0] 81.0 | 9.0 |105.0] 75.0 | 58.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 27.5
2 HANDLE p— p— DN25| 1" | 25.0 [160.0/136.0/ 90.5 | 9.0 |115.0] 85.0 | 68.0 | 18.0 | 2.0 | 4x@14 | 50.0 | 36.0 | 7.0 | 6.0 | 34.0
= SACKING FOLWER Ty DN32[1-1/4"] 32.0 [180.0/185.0] 98.7 | 9.0 |140.0[100.0] 78.0 | 18.0 | 2.0 | 4x@18 | 50.0 | 36.0 | 7.0 | 6.0 | 42.5
PTFE.+25GG.F. FeobhT DN40[1-1/2"] 38.0 [200.0/198.0[115.3] 14.0 [150.0[110.0] 88.0 | 18.0 | 3.0 | 4x@18 | 70.0 | 50.0 | 9.0 | 7.0 [ 52.0
22 TAB WASHER 55304 AISI 304 DN50| 2" |50.0 [230.0/198.0/124.0] 14.0 |165.0[125.0/102.0] 20.0 | 3.0 | 4x@18 | 70.0 | 50.0 | 9.0 | 7.0 | 63.5
23 SET BOLT 55304 AISI 304 DN65 | 2-1/2"] 65.0 [290.0[267.0[155.0] 17.0 [185.0[145.0[122.0[ 22.0 | 3.0 | 8x@18 [102.0] 70.0 | 11.0 | 9.0 | 85.5
DN80| 3" |80.0 [310.0/267.0[208.5] 17.0 [200.0[160.0]138.0{ 24.0 | 3.0 | 8x@18 [102.0[ 70.0 | 11.0 | 9.0 [102.0
DN100] 4" |100.0|350.0/322.0|216.7| 17.0 |235.0/190.0/162.0| 24.0 | 3.0 | 8x@22 [102.0] 70.0 | 11.0 | 9.0 |128.5

14 15



16

GEKO

CONTROL-VALVES

GKV-237L

FULL PORT THREE-PIECE FLANGE END BALL VALVE

BLOW-OUT PROOF STEM

WORKING PRESSURE(CWP) :PN16 bar/PN40 bar

TEMPERATURE RANGE: -20 to 180°C

LOCKING DEVICE
END FLANGE DIMENSION:

DIN 2543 PN16/DIN 2545 PN40O(EN 1092-1 RF)

FACE TO FACE:EN 558-1/F1

NO. PART NAME MATERIAL
BODY 1.4408 / EN1503
4 BALL CF8M / EN1503
STEM $S316
9 END CAP 1.4408 / EN1503
12 SEAT PTFE.
13 THRUST WASHER PTFE.
" 14 STEM PACKING PTFE.
3 16 GLAND NUT $S304
16 19 HANDLE $5304
14 P ol o HANDLE COVER PLASTIC
13 J 23 HANDLE WASHER $S304
15 24 HANDLE NUT $S304
) — 2 28 LOCKING DEVICE $5304 (OPTION)
4 @i 35 BODY BOLT $5304
1 N 36 BOLT WASHER $S304
“ 37 BOLT NUT 55304
PN/16 DIMENSIONS unit:mm
SIZE PORT L E H 2G ) o1 T F Mx@N C L1
DN15 1/2" 150  |1300 122.9 88.0 95.0 65.0 45.0 16.0 20 | 4x@14.0 5.0 225
DN20 3/4" 200 |150.0 122.9 910  |105.0 75.0 58.0 18.0 20 | 4x@14.0 5.0 275
DN25 1" 250  |160.0 1449 |1040 |1150 85.0 68.0 18.0 20 | 4x@14.0 8.0 34.0
DN32 | 1-1/4" 320  |180.0 1449 |1080 |1400 |100.0 78.0 18.0 20 | 4x@18.0 8.0 425
DN40 | 1-1/2" 380 |2000 |1889 [121.0 |1500 |110.0 88.0 18.0 30 |4x@18.0 10.0 52.0
DN50 2 500 |2300 |1889 |1290 |1650 |1250 |1020 20.0 30 |4x@18.0 10.0 63.5
DN65 | 2-1/2" 650 2900 | 2553 |1520 |1850 |1450 |1220 22,0 30 |8x2180 10.0 85.5
DN80 3" 800 [3100 |2608 |1600 |2000 |160.0 |138.0 24.0 30  |8x@18.0 120 |1020
DN100 4" 1000 [3500 | 3222 |1740 2350 |1900 |162.0 24.0 30 | 8x@220 160 |1285
PN/40 DIMENSIONS unit:mm
SIZE PORT L E H 2G ) o1 T F Mx@N C L1
DN15 1/2" 150  |1300 |1229 88.0 95.0 65.0 45.0 16.0 20 | 4x@14.0 5.0 225
DN20 3/4" 200 |1500 |1229 910 |105.0 75.0 58.0 18.0 20 | 4x@14.0 5.0 275
DN25 1" 250 |1600 |1449 |1040 |1150 85.0 68.0 18.0 20 | 4x@14.0 8.0 34.0
DN32  |1-1/4" 320 |1800 [1449 [1080 |1400 |100.0 78.0 18.0 20 | 4x@18.0 8.0 425
DN40 | 1-1/2 380 |2000 [1889 [121.0 |1500 [1100 88.0 18.0 30 |4x@180 10.0 52,0
DN50 2 500 |2300 [1889 |1290 |1650 |1250 |1020 20.0 30 |4x@18.0 10.0 63.5
DN65 | 2-1/2" 650 2900 |2553 |1520 |1850 |1450 [1220 22,0 30 |8x@180 10.0 85.5
DN80 3" 800 [3100 |2608 |160.0 |2000 |160.0 |138.0 24.0 30 |8x@18.0 12.0 102.0
DN100 4" 1000 [3500 3222 1740 2350 |1900 |162.0 24.0 30 | 8x@220 16.0 1285

.

BLOW-OUT PROOF STEM

ISO 5211 DIRECT MOUNTING PAD

GEKO

CONTROL-VALVES

GKV-143

3-WAY [L-PORT&T-PORTIBALL VALVE SCREWED END

WORKING PRESSURE(CWP) :DN8~DN50 1000psi PN63 bar
TEMPERATURE RANGE: -20 to 180°C
LOCKING DEVICE
THERE ARE FOUR SEATS
L-PORTOR T-PORT AVAILABLE 360°POTARY HANDLE
PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

I1SO 228
BSPT(PT)
BSP(PF)
MATERIALS LIST
NO. PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M
4 BALL ASTM A351 Gr.CF8M
e 5 STEM SS316
F 2 9 CAP ASTM A351 Gr.CF8M
< 11 BODY SEAL PTFE.
oz 12 SEAT RTFE.
oK P 13 THRUST WASHER RTFE.
\ 14 STEM PACKING RTFE.
17 N (}H U 15 GLAND BUSH $S304
© - 19 HANDLE $5304
7 21 HANDLE COVER PLASTIC
oK1 22 STEM NUT $5304
23 HANDLE WASHER SS304
24 HANDLE NUT SS304
28 LOCKING PAD $S304
29 BELLEVEILLE WASHER $5304-CSP
- 30 STOP WASHER 55304
55 31 0-RING VITON
29 > T 32 PACKING FOLLOWER PTFE.+25%GF
15 31 33 STOP PIN $S304
14 <«
13 T
" F Flow Patterns for L-Port
i — 'g 1E£’_:32 1@2 1@2 '%jz
12 o 3 3 3 3
9 (—
= 1 g Flow Patterns for T-Port
E— St r — ey r L
L 1Eﬁ512 1%}”2 1%2 15}2
3 3 3
DIMENSIONS unit:mm
SIZE PORT L L5 E H H1 H4 C Y oK oK1 z pal
DN8 | 1/4" 11.0 75.7 373 | 112.0 775 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN10 | 3/8" 11.0 75.7 373 | 112.0 77.5 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN15 | 1/2" 12.7 75.7 373 | 112.0 77.5 9.0 38.2 9.0 12.0 420 | F-04 6.0
DN20 | 3/4" 16.0 866 | 447 | 1120 82.0 9.0 452 9.0 12.0 420 | F-04 6.0
DN25 1" 200 | 1024 | 514 | 1365 93.7 110 | 565 110 | 15.8 50.0 | F-05 7.1
DN32 |1-1/4" | 250 | 1182 577 | 1880 | 1011 | 110 | 619 110 | 158 50.0 | F-05 7.1
DN40 |1-1/2" | 320 | 1258 | 627 | 1975 | 1203 143 | 783 140 | 2038 700 | F-07 |500 |F-05 9.2 7.1
DN50 2" 381 | 1490 | 746 | 1975 | 1299 140 | 874 140 | 2038 700 | F-07 |500 |F-05 9.2 7.1

17



GEKO GKV-144

CONTROL-VALVES 3-WAY/4-WAY BALL VALVE SCREWED END

GEKDO GKV-143L

CONTROL-VALVES 3-WAY [L-PORT&T-PORTIBALL VALVE SCREWED END

« BLOW-OUT PROOF STEM
 WORKING PRESSURE(CWP) :DN8~DN50 1000psi PN63 bar

« TEMPERATURE RANGE: -20 to 180°C « BLOW-OUT PROOF STEM

« LOCKING DEVICE « ISO 5211 DIRECT MOUNTING PAD

« THERE ARE FOUR SEATS « WORKING PRESSURE(CWP) :DN8~DN100 1000psi
* L-PORT OR T-PORT AVAILABLE 360°POTARY HANDLEE PN63bar

. PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

« TEMPERATURE RANGE: -20 to 180°C
* LOCKING DEVICE
« THERE ARE FOUR SEATS

ISO 228 + L-PORT OR T-PORT OR X-PORT AVAILABLE 360°POTARY
BSPT(PT)
BSP(PF)
i MATERIALS LIST
NO. PART NAME MATERIAL QTY
H1 1 BODY ASTM A351 Gr.CF8M | 1
4 BALL ASTM A351 Gr.CF8M| 1
5 STEM 55316 1
9 END CAP ASTM A351 Gr.CF8M| 4
Flow Patterns for L-Port 11 BODY SEAL PTEE. 4
— 12 SEAT PTFE. 4
C iy 12 3 Q| g 12 13[  THRUST WASHER PTFE. 1
7-4 oK el By 3 e 14 STEM PACKING PTFE. 1SET
15 GLAND SS304 1
—— Flow Patterns for T-Port 19 HANDLE SS304 1
— e 21 HANDLE COVER PLASTIC 1
. N SRR
(@ e 1 P ES 1
I): \ / ‘ —) U 24 HANDLE NUT SS304 1
L5 /%74@ J\ J 29 BELLEVILLE WASHER SS410 2
30 STOP WASHER $5304 1
‘ J_L J_L MATERIAL LIST 31 O-RING VITON 1
NO. PART NAME MATERIAL . H 32 PACKING FOLLOWER PTFE.+25GF 1
E 1 BODY ASTM A351 Gr.CF8M T 33 STOP PIN SS30i TSET
4 BALL ASTM A351 Gr.CF8M H 35 BOLT >530 16
2 = = - & 36 BOLT WASHER SS304 16
) STEM SS316 H4
3 9 END CAP ASTM A351 Gr.CF8M 14 T
19 11 BODY SEAL PTFE. 33 S —37.5°
76 12 SEAT PTFE. @/ / \ - -
14 H 13 THRUST WASHER PTFE. \ j | r T
113 ——F in + 14 STEM PACKING PTEE. @ o
= T- | N
5 - ﬁ— ! 16 GLAND NUT 55304 o o PROT 1601BV PRO D2
4 PORT L HANDLE 55304 3635(12)(a ) 1)11)(9 J
& | 21 HANDLE COVER VINYL GRIP )
0 — — f 23 HANDLE WASHER 55304 L
D— 24 HANDLE NUT 55304 L L
L 28 LOCKING PAD $S304
Butt weld end Socket weld end
DIMENSIONS it:
unitmm DIMENSIONS unit:mm
SIZE PORT L L5 E H H1 C oK Z-4 SIZE |PORT | L E H1 | H H4 D Z1 z2 F 1SO 5211 BW | D1 | D2 T
DN8 1/4" 11.0 69.4 346 1334 60.7 10.7 9.0 420 M5xP0.8 1/2" | 16.0 | 96.0 |186.5| 9.0 | 89.0 | 478 | 90 | 6.0 48.0 #o— 21.3 | 15.8 | 21.8 | 10.0
" 50
DN10 3/8" 11.0 694 346 |1334 60.7 107 9.0 220 M5xP0.8 3/4 200 |(107.0 (2180|110 [ 980 | 582 | 11 | 7.0 53.5 s 26.7| 209|274 | 13.0
NS o s 757 373 1334 o1 107 90 120 MI5xP0.8 1 250 [126.0 |218.0 | 11.5 1020 | 640 | 11 | 7.0 63.0 — 334|266 341 | 13.0
1-1/4" | 32,0 [133.0 [235.0 | 152 [1185|79.0 | 140 | 90 | 7.0 | 665 p2—+—29— 422|351 |427 | 130
DN20 3/4" 16.0 86.6 447  |1785 824 13.9 11.0 50.0 M6xP1.0 02
1-1/2" | 380 [151.0 [235.0 | 143 [127.0 | 88.5 | 140 | 90 | 7.0 | 755 22179 483 | 40.9 | 49.0 | 13.0
DN25 1 200 |1024 | 514 1785 861 | 200 | 110 200 M6xP1.0 2 | 500 [166.0 [2520 [ 17.8 [139.0 [1058 | 17.0 [ 11.0 | 9.0 | 830 | 2% 1192 1603 525 | 61.0 | 160
DN32 | 1-1/4 250 1182 577 2099 914 238 110 50.0 M6xP1.0 2-1/2" | 65.0 |175.0 |302.0 | 17.5 |165.7 |117.3 | 17.0 | 11.0 | 9.0 | 875 —0——195—73.0 |62.7 | 77.0 | 16.0
DN40 | 1-1/2" 320 1258 627 2080 [1027 2538 11.0 700 | M8xP125 3" 80.0 [207.2 |302.0 | 17.5 [170.0 [128.0 | 17.0 | 11.0 | 9.0 |103.6 —F2— 132889 |77.9 | 90.2 | 16.0
DN50 2" 38.0 149.0 74.6 2299 110.7 253 14.0 70.0 M8xP1.25 4" 100 |285.6 |{600.0 | 30.0 [308.0 [159.0 | 27.0 | 14.0 142.8 %%g 114.3|102.3 |115.3 | 22.0
DN65 | 2-1/2" 500 |160.0 80.0 2299  |115.8 245 14.0 70.0 M8xP1.25
DN80 3" 650 |185.0 925 2650 | 1320 255 17.0 102.0 M10xP1.5

18 19



20

GEKO

CONTROL-VALVES

THREADED END,SOCKET WELD END,BUTT WELD END
ISO 5211 DIRECT MOUNTING

PAD

BLOW-OUT PROOF STEM
WORKING PRESSURE(CWP) :
DN8~DN50 1000psi

DN65~DN80 800psi
TEMPERATURE RANGE: -20 to 180°C
LOCKING DEVICE

PIPE THREAD IN ACCORDANCE
ANSI B1.20.1(NPT)

DIN 259/DIN 2999

1SO 228
37.5° =
—L..I_
PORT DI1 BW PJRT D2
|

L
Butt weld end

L
Socket weld end

MATERIALS LIST

GKV-132

FULL PORT THREE-PIECE WELD WELD BALL VALVE

K1
Z1-4

NO. PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M

4 BALL ASTM A351 Gr.CF8M

5 STEM SS316

9 END CAP ASTM A351 Gr.CF8M

12 SEAT RTFE.

13 THRUST WASHER RTFE. 30

14 STEM PACKING RTFE. 9

15 GLAND BUSH SS304

19 HANDLE SS304 15

21 HANDLE COVER VINYL GRIP 32

22 STEM NUT SS304 14

24 HANDLE NUT SS304 31

28 LOCKING PAD SS304 3

29 BELLEVILLE WASHER SS304-CSP

30 TAB WASHER SS304 5

31 O-RING VITON 1

32 PACKING FOLLWER PTFE.+25%G.F. 5

35 BODY BOLT SS304

36 BOLT WASHER SS304 4

37 BOLT NUT SS304 1

DIMENSIONS Unit:mm
SIZE PORT] L L E H H1 [ H4 C K K1 [ Z4 [Z1-4] D1 | BW | D2 T

DN8 | 1/4" | 11.5 | 63.5 | 58.5 |112.0| 73.0 | 8.5 |37.0 | 9.0 |50.0 |36.0 | 7.0 | 6.0 |11.0 | 13.7 | 14.2 [ 10.0
DN10| 3/8" | 12.5 | 63.5 | 63.5 |[112.0] 73.0 | 85 |37.0 | 9.0 |50.0 | 36.0 | 7.0 | 6.0 [12.5 |17.1 [17.5 [ 10.0
DN15| 1/2" [ 15.0 | 635 | 75 |[112.0]/73.0 | 85 |37.0 | 9.0 | 50.0 | 36.0 | 7.0 | 6.0 [15.8 |21.3 [ 21.8 | 10.0
DN20| 3/4" | 20.0 [ 72.5| 80 [112.0]/80.8 | 85 |45.0 | 9.0 |50.0 | 36.0 | 7.0 | 6.0 [20.9 |26.7 | 27.4 | 13.0
DN25| 1" [25.0[81.0| 90 [136.0/90.5 | 11.4 | 53.5 | 9.0 | 50.0 | 36.0 | 7.0 | 6.0 |26.6 |33.4 | 34.1 | 13.0
DN32[1-1/4"| 32.0 [ 94.5 | 110 [185.0]98.7 | 11.4 | 59.0 | 9.0 |[50.0 | 36.0 | 7.0 | 6.0 |35.1 |42.2 [42.7 | 13.0
DN40 [1-1/2"| 38.0 [108.0] 120 [197.9]115.3|14.0 | 74.8 | 14.0 | 70.0 | 50.0 | 9.0 | 7.0 |[40.9 |48.3 [49.0 | 13.0
DN50] 2" [50.0 [121.5] 140 [197.9]124.0] 13.7 [ 83.5 | 14.0 [ 70.0 | 50.0 | 9.0 | 7.0 [52.5 [60.3 | 61.0 | 16.0
DN65 [2-1/2"| 65.0 [157.5] 185 |267.0]155.0] 18.0 [108.8] 17.0 [102.0] 70.0 | 11.0 | 9.0 [62.7 |73.0 [ 77.0 | 16.0
DN80| 3" [80.0 [190.0] 205 [267.0]208.5] 18.0 [118.3] 17.0 [102.0] 70.0 [ 11.0 | 9.0 [77.9 [88.9 | 90.2 | 16.0
DN100[ 4" [100.0/225.0] 240 |322.0/216.7| 18.0 [153.8] 17.0 [102.0| 70.0 | 11.0 | 9.0 [102.3 [114.3]115.3] 22.0

GEKO

CONTROL-VALVES

GKV-132L

FULL PORT THREE-PIECE WELD WELD BALL VALVE

THREADED END,SOCKET WELD END,BUTT WELD END

« BLOW-OUT PROOF STEM

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN80 800psi

. TEMPERATURE RANGE: -20 to 180°C

. LOCKING DEVICE

« FACE TO FACE: DIN 3202 M3

« WITHISO MOUNTING FLANGE

. PIPE THREAD IN ACCORDANCE

ANSI B1.20.1(NPT)

DIN 259/DIN 2999

37.5° f=e
ﬂ T
PORT DTl Bz/V POTRT DTZ
QK;&, 4—‘;‘ o4 r1.6 l l l
miS |
— Y
=\ e I - L
NN (( Y, Butt weld end Socket weld end
IS | ]
@g~ HJ MATERIALS LIST
[T NO PART NAME MATERIAL
24 1 BODY ASTM A351 Gr.CF8M
E4—1 4 BALL ASTM A351 Gr.CF8M
23 o . 5 STEM SS316
15 9 END CAP ASTM A351 Gr.CF8M
H1 11 BODY SEAL PTFE.
1 28192 12 SEAT RTFE.
1 H 13 THRUST WASHER PTEE.
14 STEM PACKING PTEE.
11 15 GLAND 5304
[ 19 HANDLE SS304
6 PORT 21 HANDLE COVER PLASTIC
@ 23 HANDLE WASHER 55304
| 24 HANDLE NUT S5304
9 28 LOCKING DEVICE S$S304 (OPTION)
e 35 BODY BOLT 55304
Liuz 36 BOLT WASHER SS304
0 L 37 BOLT NUT 55304
DIMENSIONS unitmm
SIZE PORT | L E H HL [ oK Z-4 11 [Bw | b1 | D2 T
DN8 | 1/4" [11.0 | 63.7 [102.0 | 540 [13.0 | 360 |M5xP0.8 | 21.0 [13.7 [11.0 [14.2 [10.0
DN10 | 3/8" [ 125 |63.7 [1020 | 540 [13.0 [360 [M5xP0.8 [ 210 [17.1 [125 [175 [10.0
DN15 | 1/2" [150 | 657 [1020 | 550 [13.0 [360 |[M5xP0.8 [ 225 [213 |15.8 [21.8 [10.0
DN20 | 3/4" [ 200 |762 1260 | 620 [17.0 [360 [M5xP0.8 [ 31.0 [267 [209 [274 [13.0
DN25 1" [ 254 [ 862 [1260. | 660 | 19.0 [ 360 |[M5xP0.8 | 400 [334 [266 [341 [13.0
DN32 [1-1/4" [ 32.0 [102.8 [1540 | 90.0 | 270 [500 [M6xPL0 [ 50.0 [422 [351 [42.7 [13.0
DN40 [1-1/2" [ 40.0 [119.4 [1540 | 93.0 | 260 [500 |[M6xP10 [ 580 [483 [40.9 [49.0 [ 130
DN50 | 2" [ 508 [131.4 |188.0 [102.0 | 240 [500 [M6xPL0 [ 700 [60.3 |525 |61.0 | 16.0
DN65 [2-1/2" | 65.0 [164.0 [265.0 [121.0 | 39.0 [ 700 [mM8xP1.25 [ 850 [73.0 |62.7 |77.0 | 16.0
DN80 3" 1800 [182.7 [265.0 [134.0 [ 37.0 [102.0 |M10xP15 [101.5 [88.9 [77.9 [90.2 [ 16.0
DN100 | 4" [100.0 [236.2 [272.0 [175.0 | 50.0 [102.0 [M10xP1.5 [122.0 [114.3 [102.3 [115.3 | 22.0

21



GEKO

CONTROL-VALVES

GKV-133

FULL PORT THREE-PIECE WELD WELD BALL VALVE

GEKDO GKV-135

CONTROL-VALVES THREE-PIECE 1SO5211 MOUNT DIRECT TYPE BALL VALVE VALVE

« BLOW-OUT PROOF STEM 2000WOG/1500WOG/1000WOG

« FACE TO FACE- DIN 3202 513

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN100 800psi

« TEMPERATURE RANGE: -20 to 180°C

« LOCKING DEVIC

* THREADED END,SOCKET WELD END,BUTT WELD
END

« ISO 5211 DIRECT MOUNTING PAD

« BLOW-OUT PROOF STEM

« WORKING PRESSURE(CWP):

GKV-135B DN8~DN25 2000psi PN140 bar

GKV-135B DN32~DN50 1500psi PN100 ba

GKV-135B DN65~DN100 1000psi PN63 bar

GKV-135R DN8~DN32 2000psi PN140 bar

GKV-135R DN40~DN65 1500psi PN100 bar

GKV-135R DN80~DN100 1000psi PN63 bar

« TEMPERATURE RANGE: -20 to 180°C

» LOCKING DEVICE

« PIPETHREAD IN ACCORDANCE

22

K1 K 71-4
LB—
|
MATERIALS LIST | Jlﬁ 33
NO| PART NAME MATERIAL N T A ( \
1 BODY ASTM A351 Gr.CF8M gcz H@ } } (1 ] ¥ < /
r.
4 BALL ASTM A351 Gr.CF8M M || ?’ TT_ — NAl\'\//ll,EO‘TERIAL LIST —
5 STEM 55316 a U NO
9 END CAP ASTM A351G il 79.4 1 BODY ASTM A351 Gr.CF8M
r.CF8M i IS
> SEAT oTFE 54 i E ) £ g z\;ﬂ QZZ:AGASM Gr.CF8M
13 THRUST WASHER ] —
14 STEM PACKING E: 3 ( 1 2) 2324 / ?’ 9 END CAP ASTM A351 Gr.CF8M
: <
15 GLAND 55304 L5 28 1% @9 i :12 E(E)AD: SEAL EIEE
;i :ﬁmgtg p— $5304 14 8)9)21) | 15 H1 13 THRUST WASHER RTFE.
VINYL GRIP 13 o 3> 14 STEM PACKING $S304
23 HANDLE WASHER 55304 — H 15 GLAND BUSH
24 HANDLE NUT $5304 > ‘ 14 = 19 HANDLE P
28 LOCKING DEVICE $5304 (OPTION) 12 opoRT b BW 51"; H4 - ANDLE CoUER g;‘;i:'c
iz EgLDTYV?IgéLER ::igi 9 M 51| 22 STEM NUT $8304
37 BOLT NUT $S304 4 PORT 23 HANDLE WASHER $5304
ST | 24 HANDLE NUT SS304
4 . 37 =" 29 BELLEVILLE WASHER SUS304 CSP
30° 1 35 T 30 TAB WASHER S8304
T o 7 =% 31 STEM O-RING VITON
T L1 32 PACKING FOLLOWER PTFE.+25%GF
L 33 STOP PIN SS304
3/8"&1/2" OTHER 35 BODY BLOT 55304
37 BOLT NUT SS304
37.5° p=—
DIMENSIONS unit:mm —L_I_
SIZE PORT L L2 E H D T BW 13 r Y T
DN8 1/4" 115 70.0 5.0 974 49.0 115 16 16.2 19.0 PORT ., 01 BW PORT D2
DN10 3/8" 125 700 6.0 97.4 49.0 136 18 17.2 19.0 (' l |
DN15 12" 15.0 75.0 6.0 1229 58.0 173 20 213 225
DN20 3/4" 200 90.0 1229 61.0 20.0 16 278 275 5 t'-t T end S |t et end
uttwela en ocketweld en
DN25 1" 25.0 100.0 8.0 144.9 68.0 285 20 337 34.0
DN32 1-1/4" 320 110.0 144.9 735 320 16 437 425
DN40 1-1/2" 380 125.0 10.0 188.9 84,5 425 20 483 52.0
DN50 2 50.0 150.0 10.0 188.9 932 53.9 20 60.3 63.5
DN65 2-1/2" 65.0 190.0 120 255.3 1318 68.9 20 76.1 855
DN80 3 80.0 2200 12.0 260.8 140.0 80.9 20 88.9 102.0
DN100 4 1000 | 2700 120 3222 173.6 104.3 20 1143 | 1285

23



GEKO GKV-135 GEKO GKV-135

CONTROL-VALVES THREE-PIECE 1S05211 MOUNT DIRECT TYPE BALL VALVE VALVE CONTROL-VALVES THREE-PIECE [SO5211 MOUNT DIRECT TYPE BALL VALVE VALVE

2000WOG/1500WOG/1000WOG

* THREADED END,SOCKET WELD END,BUTT WELD END
» ISO 5211 DIRECT MOUNTING PAD

+ BLOW-OUT PROOF STEM

* ORKING PRESSURE(CWP) :

GKV-135B DN8~DN25 2000psi  PN140 bar
GKV-135B DN32~DN50 1500psi PN100 ba
GKV-135B DN65~DN100 1000psi PN63 bar
GKV-135R DN8~DN32 2000psi PN140 bar
GKV-135R DN40~DN65 1500psi PN100 bar
GKV-135R DN80~DN100 1000psi PN63 bar
* TEMPERATURE RANGE: -20 to 180°C

* LOCKING DEVICE

» PIPE THREAD IN ACCORDANCE

*THREADED END,SOCKET WELD END,BUTT WELD END
*« WITHISO 5211 DIRECT MOUNTING PAD
* BLOW-OUT PROOF STEM
* WORKING PRESSURE(CWP) :
GKV-135B DN65~DN100 1000psi PN63 bar
GKV-135R DN80~DN100 1000psi PN63 bar
« TEMPERATURE RANGE: -20 to 180°C
« LOCKING DEVICE
« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

ANSIB1.20.1(NPT) 1SO 228 (G)
DIN 259/DIN 2999 14 BSPT (PT)
IS0 228 (G) — 72-4 BSP ( PF)
Full Bore Dimension \/
SIZE PORT [ L E H H1 H4 C oK oKL [ z1-4 [z2-4] L1 BW D1 D2 T \W
DN8 [1/4" |11 56.1 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 60 | 225 11 11 11 11 [
DN10 [3/8" [125 [ 56.1 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 60 | 22.5 125 [125 [125 125 oK
DN15 [1/2" [150 | 68.0 1120 | 729 [ 85 370 | 9.0 50.0 36.0 7.0 6.0 | 22.5 150 [150 [ 150 [15.0 A4 — oK1
DN20 [3/4" [200 [ 761 1120 | 818 [ 85 450 [ 90 50.0 36.0 7.0 6.0 | 20.0 200 [200 | 200 |20.0 C e
DN25 | 1" 250 | 84.6 1360 | 905 [ 114 [ 535 [ 90 50.0 36.0 7.0 6.0 | 25.0 250 |250 | 250 |25.0 52)
DN32 |1-1/4"[320 | 98.1 1850 | 980 | 114 [ 590 | 9.0 50.0 36.0 7.0 6.0 | 32.0 320 [320 [320 [320 53 ———
DN40 [1-1/2"[380 [ 1112 [ 1979 | 1147 [ 140 | 7438 14.0 70.0 50.0 9.0 70 | 380 380 [380 [380 ]380 53 = )
DN50 | 2" 500 | 1267 | 1979 | 1240 | 137 | 835 14.0 70.0 50.0 9.0 70 | 50.0 50.0 [500 [ 500 [500 %> MATERIAL LIST
Reduced Bore Dimension 38 NO PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF8M
SIZE PORT [ L E H H1 H4 C oK oKL [ z1-4 [z2-4] L1 BW D1 D2 T a == H ) BALL ASTM A351 GrCFEM
DN15 [1/2" [150 | 68.0 1120 | 729 [ 85 37.0 | 9.0 50.0 36.0 7.0 60 | 225 150 | 150 | 150 [15.0 55 :& Ha : e T -
DN20 [3/4" [200 [ 761 1120 | 81.8 [ 85 450 [ 9.0 50.0 36.0 7.0 6.0 | 20.0 200 [200 | 200 |200 7
DN25 [ 1" 250 | 84.6 136.0 | 905 114 | 535 9.0 50.0 36.0 7.0 60 | 250 | 250 [250 [ 250 [250 3 9 END CAP ASTM A351 Gr.CF8M
DN32 [1-1/4"[320 [ 981 1850 | 980 [ 114 [590 [ 90 50.0 36.0 7.0 6.0 | 32.0 320 [320 [320 [320 I 11 BODY SEAL RTFE.
DN40 [1-1/2"[380 [ 1112 [ 1979 | 1147 [ 140 | 748 14.0 70.0 50.0 9.0 70 | 380 380 [380 [380 [380 12 SEAT RTFE.
DN50 | 2" 50.0 | 1267 | 197.9 | 1240 | 137 [ 835 14.0 70.0 50.0 9.0 70 | 50.0 50.0 500 [ 500 [50.0 5 PORT 13 THRUST WASHER RTFE.
f | 14 STEM PACKING 55304
= & 15 GLAND BUSH $S304
1 19 HANDLE PLASTIC
@ P o] 21 HANDLE COVER $5304
L1 @% 22 STEM NUT SS304
) 23 HANDLE WASHER SS304
4 24 HANDLE NUT SS304
T 29 BELLEVILLE WASHER SUS304 CSP
_LH 30 TAB WASHER SS304
—x( i 31 STEM O-RING VITON
PORT s D1 BW PORT D2 32 PACKING FOLLOWER PTFE.+25%GF
£ | | 33 STOP PIN SS304
L 35 BODY BLOT 55304
L LJ 37 BOLT NUT 55304
Butt weld end Socket weld end

Full Bore Dimension unit:mm

SIZE PORT L E H H1 H4 C oK OK1 | 71-4 | 72-4 L1 BW D1 D2 T
DN 65 [2-1/2"| 65.0 [165.0 |267.0 |155.0 | 18.0 [108.8 | 17.0 [102.0 | 70.0 11.0 9.0 85.5 73.0 62.7 77.0 16.0
DN 80 3" 80.0 [208.0 [267.0 |208.5 | 18.0 |1183 | 17.0 [102.0 | 70.0 11.0 9.0 [1020 | 889 77.9 90.2 16.0
DN 100 4" ]100.0 [2325 [322.0 |216.7 | 18.0 |153.8 | 17.0 [102.0 | 70.0 11.0 9.0 [1285 [1143 [1023 1153 | 20.0

Reduced Bore Dimension
SIZE PORT L E H H1 H4 C oK | oK1 |Z1-4 | 72-4 L1 | BW D1 D2 T

DN 80 3" 80.0 [208.0 |267.0 |208.5 | 180 [1183 | 17.0 [1020 | 70.0 110 | 9.0 (1020 |889 77.9 90.2 16.0
DN 100 4" 11000 |2325 3220 |216.7 | 180 [153.8 |17.0 [102.0 | 70.0 11.0 | 90 ]1285 1143 1023 [1153 |20.0

24 25



GKV-137

FULL PORT THREE-PIECE WELD WELD BALL VALVE

GKV-136

THREE-PIECE MOUNT DIRECT CLAMP END BALL VALVE

CONTROL-VALVES CONTROL-VALVES

« BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN100 800psi

« TEMPERATURE RANGE: -20 to 180°C

« FULLED CAVITY PTFE SEAT

« LOCKING DEVIC

« ISO 5211 DIRECT MOUNTING PAD

. BLOW-OUT PROOF STEM

- T-CLAMP END

« WORKING PRESSURE(CWP) :
DN8~DN50 1000psi
DN65~DN80 800psi

- TEMPERATURE RANGE: -20 to 180°C

LOCKING DEVICE

oK oK1
! 7.4 ‘Z‘l-
oK1
S 2K o MATERIALS LIST
NO. PART NAME MATERIAL
( \ 1 BODY ASTM A351 Gr.CF8M
[ \ ) / 4 BALL ASTM A351 Gr.CF8M
5 STEM Ss316
9 END CAP ASTM A351 Gr.CF8M
{ MATERIALS LIST ¢ 12 SEAT PTFE/TFM1600.
NO] __PART NAME MATERIAL 13 THRUST WASHER PTFE.
1 BODY ASTM A351 Gr.CF8M ” STEM PACKING PTFE.
30 2)24)28)(19 ‘5‘ S?Ekﬂ 32212 15 GLAND BUSH 55304
29 N 9 EEE\)TCAP ASTM A351 Gr.CF8M 16 HANDLE GLAND $5304
12 RTFE.
15 13| THRUST WASHER RTFE. 19 HANDLE $5304
T4 STEM PACKING RTFE 21 HANDLE COVER VINYL GRIP
32 15| GLAND BUSH $S304 1 22 STEM NUT $5304
14 191 HANDLE SS304 24 HANDLE NUT $5304
31 ;; g‘?g‘ﬁi,EU‘%OVER \S”S'\QBEGRIP H 28 LOCKING PAD $S304(OPTION)
7 24 Eég%f\lEGNPLLTD ggggi HL 29 BELLEVILLE WASHER $S304-CSP
28
5 29| BELLEVILLE WASHER S5304-CSP zi ;Ail\zgwm \S/?Ooi‘
30| TAB WASHER SS304 1 -
1 31 O-RING VITON o 32 PACKING FOLLWER RTFE
; L B | soorson
36 BOLT WASHER 5S304 36 BOLT WASHER 55304
4 37] _ BOLTNUT 55304 37 BOLT NUT $5304
1
DIMENSIONS Unit:mm DIMENSIONS unitmm
SIZE A L E H H1 H4 C K K1 Z-4 | Z1-4 D J
DN15] 172" | 20.2 [112.0|112.0] 73.0 | 8.5 [ 37.0 | 9.0 | 50.0 | 36.0 | 7.0 | 6.0 | 94 |254 T T T o T o T o o T T o T o T o0 T Ty T o
DN20| 3/4" | 20.2 [112.0/112.0/ 80.8 | 85 [45.0| 9.0 | 50.0 | 36.0 | 7.0 | 6.0 |15.75|25.4 - ' : : : : : ' : : : : ' :
DN25| 1" 436 1360136019051 95 [535] 90 5001360 70 | 60 | 222 [504 DN20 | 3/4 200 875 | 1120 | 808 | 450 8.5 90 500 | 360 7.0 6.0 191 158
DN40|1-1/2"| 43.6 |197.0[197.9]/115.3] 9.5 | 74.8|14.0|70.0 | 500 | 9.0 | 7.0 | 34.9 504 DN25 r 200 | 90 | 1360 | 905 | 535 9> 90 500 | 360 70 60 254 21
DN50| 2" |56.3 1197.0/197.9/124.0] 13.7 | 835 | 14.0 | 70.0 | 500 | 9.0 | 7.0 | 47.5 | 635 DN40 | 1-1/2" | 200 | 1180 | 1979 | 1153 | 7438 140 | 140 | 700 | 500 90 7.0 38.2 348
DN65 | 2-1/2"| 70.6 |264.0|264.0{155.0| 18.0 {108.8| 17.0 [102.0| 70.0 | 11.0 | 9.0 | 60.3 | 77.5 DN50 2 200 | 1317 | 1979 | 1240 | 835 | 137 | 140 | 700 | 500 9.0 7.0 508 | 475
DN80| 3" |83.3264.0/264.0/164.5| 18.0 |[118.3]| 17.0 |102.0| 70.0 | 11.0 | 9.0 | 73.0 1 90.9 DN65 | 2-1/2" | 200 | 1585 | 2670 | 1550 | 1088 | 180 170 | 1020 | 700 110 9.0 63.4 60.2
DN100, 4" [110.3|325.0(325.0/216.7| 18.0 |153.8| 17.0 |{102.0| 70.0 | 11.0 | 9.0 | 97.4 |118.9 DN80 3 200 | 1788 | 2670 | 2085 | 1183 | 180 170 | 1020 | 700 11.0 90 7622 729
DN100 4 200 | 2105 | 3220 | 2167 | 1538 | 180 | 170 | 1020 | 700 | 110 90 1016 | 974

26 27



28

GEKO

CONTROL-VALVES

GKV-138

THREE-PIECE COMPRESSION ENDS BALL VALVE

Instrumentation Ball Valve

*« BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :1000psi
* TEMPERATURE RANGE: -20 to 180°C
« LOCKING DEVIC

0l ] MATERIALS LIST
t_ ﬁ ITEM PART NAME MATERIAL
TP ) I 1 BODY CF8M
)i
gCD % ( ) - 2 END CAP (LOK) CF3M/CF8M
Niilm (g 3 BALL CF8M
m (* 4 SEAM SS316
5 SEAT TFM1600/PTFE
s 6 BODY SEAL PTFE.TEFLON
i e 7 THRUST WASHER PTFE.TEFLON
@ /(@ 8 STEM PACKING PTFE.TEFLON
> 9 STEM NUT 55304
10 HANDLE $5304
8 11 HANDLE NUT SS304
7 H 11A HANDLE WASHER SS304
12 BODY BOLT $5304
13 BOLT WASHER $5304
Qo 14 BOLT NUT $5304
SIS 15 HANDLE SLEEVE VINYL
16 LOCKING DEICE $5304
@) 3)()(6) a3 a4
L
DIMENSIONS unitmm
SIZE 21D OED L C H
1/4" 46 6.49 65.4 103.0 53.0
3/8" 75 9.7 65.4 103.0 53.0
1/2" 10.2 12.9 722 103.0 58.0
3/4"R 15.0 192 76.2 103.0 58.0
1R 20.0 25.55 85.4 128.0 63.0

G

* WORKING PRESSURE(CWP):DN8~DN50 3000psi/6000psi
TEMPERATURE RANGE: -20 to 180°C

22

23
15
14
11

GEKO

CONTROL-VALVES

GKV-128

FULL PORE TWO-PIECE BALL VALVE SCREWED END

KV-128 3000WOG 6000WOG
BLOW-OUT PROOF STEM

LOCKING DEVICE

PIPE THREAD IN ACCORDANCE

ANSIB1.20.1(NPT)
DIN 259/DIN 2999
1SO 228

BSP

PT

-~ )
S © ]
19
13
5 H
/4
=5 — |
\ | on
| \ \
— —

MATERIAL LIST
PART DESCRIPTION MATERIAL
1 BODY ASTM A351 Gr.CF8M
9 END CAP ASTM A351 Gr.CF8M
DIMENSION(M.M,) : BALL ASTM A351 Gr.CF8M
: 5 STEM 55316
SZE | DNA LD L H W 06 6000wod © E SE ;Y SEAL EEEELl:uN
& | 8 |63 | 36 |76 |380 | 52 1325 318 1/4"-200NC 13 RV -
38 | 10 ]| 96 | 36 |76 |380 | 52 |1325 318 1/4"-200NC = EV PACKING -
V2 | 15 | 127 3 | 100 500 | 53 |1325 318 1/4"-20UNC " GLAND P
34 | 20 | 190 | 42 | 108 | 540 | 685 | 150 261 1/4"-20UNC 1 HANDLE 55304
I | 5|50 4 |15 570 |705 | 150 572 1/4"-200NC o HANDLE COVER PLASTIC
114 | 32| 315 | 50 |12 |e05 | 84 | 182 678 1/4"-20UNC 2 HANDLE NUT 55304
112 | 40 | 370 | 50 | 134 | 670 | 886|182 | 762 | 889 | 1/4™-20UNC 3 WASHER 55304
2 | 50 | 370 | so | 158 |790 | %0 | 182 | 762 | 889 | 1/4-20UNC 28 LOCKING PAD 55316
1/4'~1-1/2" Full bore, 2" Reduced bore

29



GEKO

CONTROL-VALVES

GEKO

GKV-125

FULL PORT TWO-PIECE BALL VALVE SCREWED END

GKV-125L

FULL PORE TWO-PIECE BALL VALVE SCREWED END

CONTROL-VALVES

« BLOW-OUT PROOF STEM
« WORKING PRESSURE(CWP):DN8~DN50 1000psi
DN65~DN80 800psi

« TEMPERATURE RANGE: -20 to 180°C

* LOCKING DEVICE

* FACE TO FACE: DIN 3202 M3

« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)

» ISO 5211 DIRECT MOUNTING PAD

*« BLOW-OUT PROOF STEM

* WORKING PRESSURE(CWP) :DN8~DN50 1000psi

« TEMPERATURE RANGE: -20 to 180°C

» LOCKING DEVICE

» PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

1SO 228 ﬂ DIN 259/DIN 2999
BSP - . 1SO 228
PT : 5 BSP
PT
oK1 33 72-4
oK 71-4 \
Sy @
; ST
Al [ SSY e,
ISR T
j J
C MATERIAL LIST
2 E ] NO. PART NAME MATERIAL 24 ’_72 E
23 1 MATERIAL LIST 1 BODY ASTM A351 Gr.CF8M
T NO. PART NAME MATERIAL 4 BALL ASTM A351 Gr.CF8M 16
28 19 BODY ASTM A351 Gr.CF8M 5 STEM 55316 5
22 SBTAEL’\; QSS;{\/(I; A351 Gr.CF8M 9 END CAP ASTM A351 Gr.CF8M
29 END CAP ASTM A351 GL.CF8M 11 BODY SEAL PTFE 14 28(19)21 H
11 BODY SEAL PTFE. 12 SEAT RTFE.
15 H 12 SEAT PTFE. 13 THRUST WASHER PTFE. 13 =i I
13 THRUST WASHER PTFE. H
32 14 STEM PACKING PTFE. 14 STEM PACKING PTFE. 12 PORT
15 GLAND BUSH SS304 16 GLAND NUT 55304
14 19 HANDLE $5304 19 HANDLE $5304 9 !
g 5; ;'TAl;';\‘ADhELﬁOVER :g?gfc 21 HANDLE COVER PLASTIC 1 =
@/ 23 HANDLE WAHSER SS304 24 HANDLE NUT SS304
PORT 24 HANDLE NUT 5304 27 HANDLE WASHER 55304 4 e— L5 —=
@ 28 LOCKING DEVICE SS304(0PTION) 28 LOCKING DEVICE SS304(OPTION)
29 BELLEVILLE WASHER SUS304-CSP 1 L
= 30 TAB WASHER $S304
31 STEM O-RING VITON
9)(1D (12 e 0 32 PACKING FOLLOWER PTFE.+25GGF
33 STOP PIN $5304
L
DIMENSIONS unitrm
SIZE PORT L(M3) L L5 E H P
DIMENSIONS unitmm DN8 1/4" 11.5 60.0 54.4 28.2 97.4 50.0 28.5
SIZE PORT L E H C oK oK1 714 72-4 DN10 3/8" 12.5 60.0 54.4 28.2 97.4 50.0 28.5
DN8 14’ 115 653 1120 72.9 9.0 50.0 36.0 7.0 6.0 DN1S 12" 150 Z50 653 357 1230 c88 585
DN10 3/8" 125 653 1120 72.9 9.0 50.0 36.0 7.0 6.0
DN20 3/4" 20.0 80.0 77.3 40.2 123.0 62.5 35.0
DN15 12 15.0 653 112.0 72.9 9.0 50.0 36.0 7.0 6.0 /
DN20 3/4" 200 773 1120 818 9.0 50.0 360 7.0 6.0 DN25 1 25.0 90.0 88.7 45.0 145.0 69.3 35.0
DN25 1" 25.0 88.7 136.0 90.5 9.0 50.0 36.0 7.0 6.0 DN32 1-1/4" 32.0 110.0 102.4 53.4 145.0 76.0 38.0
DN32 1-1/4" 32.0 1024 185.0 98.0 9.0 50.0 36.0 7.0 6.0 DN40 1-1/2" 38.0 120.0 109.0 60.0 189.0 86.9 38.0
DN40 1-1/2" 38.0 109.0 197.9 114.7 14.0 70.0 50.0 9.0 7.0 DN5O 2" 50.0 140.0 125.3 69.5 189.0 95.0 38.0
DN50 2 50.0 1253 197.9 124.0 140 70.0 50.0 9.0 7.0 DNes > . 1850 Tes 015 S50 1313 cco
DN80 3" 80.0 205.0 189.5 102.7 261.0 140.6 55.0

30 31



GEKD GKV-111

CONTROL-VALVES ONE-PIECE BALL VALVE SCREWED END

GEKO GKV-126

CONTROL-VALVES TWO-PIECE BALL VALVE MALE END (FULL PORT/REDUCED PORT)

BLOW-OUT PROOF STEM « BLOW-OUT PROOF STEM

WORKING PRESSURE(CWP) :DN8~DN50 1000psi « WORKING PRESSURE(CWP) :
TEMPERATURE RANGE: -20 to 180°C DN8~DN50 1000psi (PN 63bar)
END CONNECTIONS:MALE END « TEMPERATURE RANGE: -20 to 180°C
LOCKING DEVICE « PIPE THREAD IN ACCORDANCE

PIPE THREAD IN ACCORDANCE ANSIB1.20.1(NPT)

ANSIB1.20.1(NPT) DIN 259/DIN 2999

DIN 259/DIN 2999 ISO 228
ISO 228 BSP
BSP PT
PT
MATERIALS LIST
NO PART MATERIAL QTY
W 1 BODY SUS 316 1
2 CAP SUS 316 1 / \
3 BALL SUS 316 1 ﬁ m E
s AP A \u%)
5 5 THRUST WASHER PTFE 1
) 6 STEM SUS 316 1
7 7 O RING VTTON 2
g T
55 MATERIAL LIST
NO. PART NAME MATERIAL | QTY a7
1 BODY 1.4408 1 7
< 2 END CAP 1.4408 1
Q 3 BALL CF8M 1 o |
4 SEAT PTFE 2 6 T
@ —}_I_.A———: 5 STEM SS316 1 T~
(2) 6 THRUST WASHER PTFE. 1 H —)
(3) L1 7 STEM PACKING PTFE. 1 5 = |
0 8 GLAND NUT SS304 1 L — I
L 9 HANDLE WASHER $5304 1 1 I d 1 S
10 HANDLE NUT $5304 1 4
11 BODY SEAL PTFE 1 i
12 HANDLE SS304 1
13 HANDLE COVER PLASTIC 1 3 e G} G
14 LOCKING DEVICE $5304 1
DIMENSIONS unitmm 1
SIZE DN OAR | OAB L L1 H L1
1/4" 8 8.5 8.5 69 12 50.0 104
3/8" 10 9.0 9.0 71 12 50.0 104
1/2" 15 11.6 15.0 79 15 56.5 123 DIMENSIONS unitmm
3/4" 20 14.5 20.0 94 18 60.5 123 SIzE a1 L H £ S
1" 25 20.0 25.0 106 20 69.3 145 1/4" 50 390 26.0 385 17
1-1/4" 32 25.0 32.0 122 22 76.0 145 ,,
3/8 7.2 44.0 27.0 385 19
1-1/2" 40 32.0 38.0 142 25 84.5 189
1/2"
2" 50 38.0 50.0 168 28 95.0 189 22 265 265 285 2
3/4" 125 59.0 285 385 32
@AR:Reduced bore
OAB:Full bore 1 15.0 71.0 325 38.5 38
1-1/4" 20.0 78.0 36.0 38.5 49
1-1/2" 25.0 83.0 415 38.5 53
2" 32.0 100 47.0 38.5 64

32 33



GEKO

CONTROL-VALVES

GKV-152

Y-STRAINER CLASS 600 SCREWED END

END CONNECTIONS:THREADED END

ORKING PRESSURE(CWP): 600WOG
TEMPERATURE RANGE: -20 to 180°C

PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

150 228 (G )
BSPT (PT)
BSP ( PF)

]

MATERIALS LIST

1(2,3)14)5

6

NO PART QTY MATERIAL
1 BODY 1 316/304
2 SCREEN 1 316/304
3 BONNET 1 316/304
4 PACKING 1 PTFE
5 PLUG 1 316/304
6 GASKET 1 PTFE
DIMENSIONS unit:mm
SIZE L H D P d A B
174" 57.0 35.0 10.0 2.0 1.0 16.0 8.0
3/8" 57.0 35.0 10.0 2.0 1.0 16.0 8.0
1/2" 61.0 38.0 15.0 2.0. 1.0 16.0 8.0
3/4" 70.0 42.0 20.0 2.0 1.0 16.0 8.0
1" 86.0 50.0 25.0 2.0 1.0 20.7 10.0
1-1/4" 99.0 55.0 32.0 2.0 1.0 25.0 12.0
1-1/2" 111.0 59.0 38.0 2.0 1.0 25.0 12.0
2" 137.0 73.0 51.0 2.0 1.0 32.0 12.0
2-1/2 172.0 91.0 65.0 2.0 1.0 38.0 15.0
3" 205.0 110.0 80.0 2.0 1.0 38.0 15.0

GEKO

CONTROL-VALVES

GKV-153 DN8~DN100 (1/4" ~4")
FULL PORT THREE-PIECE SHECK VALVE
- TEMPERATURE RANGE: -20 to 180T
« END CONNECTIONS:

THREADED END,SOCKET WELD END,BUTT WELD END

« PIPE THREAD IN ACCORDANCE
ANSIB1.20.1(NPT)
DIN 259/DIN 2999

ISO 228
BSPT(PT)
BSP(PF)
= A—J—F
IS
1 2
S ‘—;b
L

GKV-153

FULL PORT TWO-PIECE CHECK VALVE

DIMENSIONS unitmm
MM N 28 L c
8 14" 100 49 | 140
10 3/8* 100 49 | 140
150 12" 140 65 | 180
200 3/4° 181 70 | 220
250 1 242 78 | 275
320 | 1y4 302 9% | 320
400 | 11/2" 362 102 | 370
500 2> 483 118 | 47.0
650 | 21/2" 630 | 145 | 470
800 3 760 156 | 55.0
100 4 980 | 1815 | 70.0

MATERIALS LIST

NO. PART NAME STAINLESS STEEL
1 BODY ASTM A351 CF8M
2 END CAP ASTM A351 CF8M
3 DISC SS 316
4 BODY SEAL PTFE
5 SPRING 300 SERIES ST.ST.
6 SPRING HOLDER SS 316
7 WASHER SS 304
8 NUT SS 304
9 BOLT SS 304

35



GEKO

CONTROL-VALVES GKA SERIES PNEUMATIC ANGLE SEAT VALVE

GEKO

CONTROL-VALVES GKA SERIES PNEUMATIC ANGLE SEAT VALVE

@ Indication Rod(nylon)

@ Actuator(CF8)
3 Pilot Port(1/8") /\C /\

@ Stem (AIS1316,7304)
(® Stem Seal (PTFE)

® Cap (PC) e R
@ Spring(Steel 65Mn) . 18’ R
Piston(Alu.alloy) .

© Piston Seal(Viton)

Seal Spring(AISI304)

(11) Connecting Piece (CF8M,~CF8) sw
(12) Body Seal (PTFE) ; T‘l {

r S
(13) Valve core (CF8M,~CF8) / ¢ i
14 PTFE )\ i
(1) Seat ( ) \ / ! —L D25 PNT6 CF8W GJD
(15) Gasket(AIS1316,304) T &
(16) Body(CF8M,CF8)
L HL
A HA
Function Principle Applications Advantages Threaded Connection Welded Connection
Valve is close(open) with spring force,when the m Beer&Drinks Filling Machinery mLarge Flux,low Resistance,NoWater- hammer
piston is actuated by compressed air,vavle is mTextile Printing & Dyeing = Y-type Shape Enlarged The Flowing section,
open(closed).Forthe double acting type,the = Gas Industry which Could Raise The Flux By 30%And Make
vavle isopen and close by compressed air. = Pharmacy & Medical Equipment Flow More Smooth.
u Chemical Industry = Super Long Life
= Disinfection u Which Help The Stem Adjust And Lubricate Dimensions
u Frothing Equipment Itself Automatically.
= \Water,”SewageDisposal = The Cylinder Materialls Stainless Steel. threaded connection welded connection
lubricating Automatically. 360° Rolling Freely. size [actuator| C R K DIN11850-2 | DIN11850-3 SMS3008
9 Y 9 Yy (mm) G T A L | SW | HA | HL —F s 5 s TRATHLT b s
40 | 505 | 27 | 112 124 - - - - - - - - - -
DN10 ! —
50 60 33 | 125 38 12 135 68 27 - - - - - - - - - -
. 40 [50.5 | 27 | 112 124 118 127
DN1 " .
Technical Data 520 T 6o |33 105 | V2" | 15 351 68 | 27 [pg] 70| 19 | 15[ 20 | 2 =2 75 | 18| 1
Fluid Pressure Max1.6MPa(232psi) DN20| 50 60 33 | 132 | 3/4" | 16 | 140 | 75 32 | 135 | 82 23 15| 24 2 145 | 95 25 | 1.2
Control Pressure 0.3-0.8MPa(43.5-116psi) 50 60 33 136 150 150 136
. . 7 41 162 172 17 162
Control Fluid Neutral gas,Air DN25 QgiL ] 152 = 2? o717 ] 90| 40 212 100 | 29 | 15| 30 | 2 2?0 130 | 32 | 1.2
Body Material CRa/CF8 90 | 106 | 55 | 211 216 218 211
Seals Material PTFE
Actuator Size s 63 75 41 174 190 186 174
. !Z DN32| 90AL | 112 | 57 | 220 |11/4"| 21 | 230 | 116 | 50 | 230 | 125 | 35 | 15| 36 | 2 | 220 | 145 |33.7 | 1.2
Actuator Size 40mm,5|0mr:n,l63.rlnm,9IOmm,125mm | 20 106 55 293 235 232 293
Applicabliscosity \{Vat.er,A co ? ,0il,Fue ,St?am,Neutra gas or 63 75 21 175 190 190 210
liquid,Organic solvent,Acid and lye DN40| 90AL| 112 | 57 | 220 | 11/2| 21 [ 230 | 116 | 56 | 232 | 130 | 41 | 15| 42 | 2 | 252 | 160 | 38 | 1.2
Fluid Viscosity Max 600mm2,’s 90 | 106 | 55 | 223 235 235 255
Fluid Temperature -10° C~+180° C,25° C~+220° C 63 75 41 183 205 206 224
i {0 C E 232 245 247 263
Ambient Temperature 10° C~+80° C DN50 90AL | 112 57 o 29 138 | 69 155 | 53 15 54 2 175 | 51 19
ControlType Normally closed,Normally open,Double acting 90 | 106 | 55 | 232 250 250 265
Connection Threaded(BSP,BSPT,NPT),Welded,Flanged,Tri-clamp 125AL) 148 74 | 287 294 250 265
90AL | 112 | 57 | 262 282 | 178 - - - - - - - - - -
DN65| 90 | 106 | 55 | 265 |21/2"| 26 | 285 | 178 | 85 - - - - - - B - - -
125AL| 148 | 74 | 302 320 | 178 - - - - - - B - - -
DN80|125AL| 148 | 74 | 313 | 3" 27 | 372 | 210 | 100 - B - - - B B B - -

36 37



GEKO

CONTROL-VALVES

GEKO

CONTROL-VALVES

GKA SERIES PNEUMATIC ANGLE SEAT VALVE GKA SERIES FLANGE ENDS ANGLE SEAT VALVE

APressure Data Sheeet

(NC)-Enter Above Seat (NC)-Enter Below Seat (NO
Water-hammer)

Single for condensable media,such
as air,steam as air,steam;and low

Single Acting,Normally Closed

Flow come from below seat,avoid

85 _
/ pressure liquid media. water hammer
| size Thread end | Orifice(mm) | Kv(m3/h) | Actuator(mm) AP(MPa) | Control pressure(MPa) AP(MPa) Control pressure(MPa)
oF . 40 0-1.6 0.3-0.45 0-1.6 0.3-0.45
DN10 G3/8 13 52 50 0-1.6 0.3-0.35 0-1.6 0.3-0.35
OF . 40 0-1.6 0.3-0.45 0-1.6 0.3-0.45
~_ i DMl G172 e @z 50 016 03-035 016 03-035
PN16 DN20 G3/4" 18 11.5 50 0-1.6 0.3-0.4 0-1.6 0.3-0.4
L 50 0-1.6 0.3-0.45 0-1.6 0.3-0.45
c c DN25 G1" 24 206 63 0-1.6 0.3-0.35 0-1.6 0.3-0.35
H H — 90 0-1.6 0.2-0.25 0-1.6 0.2-0.25
I = DN32 G11/4" 31 303 63 0-1.6 0.3-0.55 0-1.6 0.3-0.55
L i 3 90 0-1.6 0.2-0.35 0-1.6 0.2-0.35
DN40 G11/2" 35 423 63 0-1.6 0.3-0.65 0-1.6 0.3-0.65
90 0-1.6 0.2-0.4 0-1.6 0.2-04
Flange specifcation:JB/T82.1-1994;1S0/DIN/JIS is also available 63 009 0307 0-09 0.3:0.7
Lésw DN50 G2" 45 60.7 90 0-1.6 0.25-0.45 0-1.6 0.25-0.45
2, 854008 125 0-1.6 0.2-0.3 0-1.6 0.2-0.3
DN65 G212" 61 90.5 90 0-1.0 0.2-0.6 0-1.6 0.2-0.6
125 0-1.6 0.2-0.4 0-1.6 0.2-04
DN80 G3" 80 135.1 12 0-16 0.2:07 -1. .2-0.
Clamp specifcation:ISO 2852-1993, According to customer’s requirements. 2 16 200.1
(NC)-Enter Above Seat (NC)-Enter Below Seat(No Water-hammer)
. . . . . q Single for condensable media,such Flow come from belou seat,avoid water
Dimensions Dimensions Si ngle ACtmg’NormaI Iy CIOSEd as air,steam as air,steam;and low hammer,suitable for higher AP.
pressure liquid media.
size |actuator] A B L C| H E F M N P )
(mm) size  |actuator| D B Cc d L A K
DN15| 50 |160 | 125 | 150 |2 | 14 |65 |4-@14| 16 | 45 | 95 (mm)
DN20| 50 (165 | 132 | 160 |2 | 14 |75 |4-¢p14|20 | 56 | 105 DN15 50 34 275 19 15 80 140 126 size Threadend | Orifice(mm) | Kv(m3/h) | Actuator(mm) AP(MPa) | Control pressure(MPa) AP(MPa) | Control pressure(MPa)
40 0-1.1 0.3 0-1.6 =03
50 |165 | 136 DN10 G3/8" 13 5.2
DN25 160 |2 | 14 | 85 |4-p14|25 | 65 | 115 DN20 | 50 | 505 | 435 | 25 21 102 | 148 | 126 : 50 014 045 0-16 =03
63 |185 | 162 . 40 011 03 0-1.6 >03
63 [200 | 175 50 165 | 140 D= i E 03 50 014 0.45 016 >03
DN32 160 |2 | 16 |100|4-9p18|32 | 78 | 140 DN25 50.5 435 32 27 130 DN20 G3/4" 18 11.5 50 0-1.4 0.45 0-1.6 >0.3
90 |245 | 223 63 188 | 166 50 00.75 0.45 013 0306
63 |202 | 175 DN25 G1" 24 206 63 0-1.4 0.5 0-1.6 03-04
DN40 200 3 16 [110| 4-p 18| 36 84 | 150 90 0-1.4 0.35 0-1.6 0.2-0.3
90 |246 | 223 63 200 | 1 63 006 05 016 0306
DN32 50.5 43.5 37 31 146 DN32 G11/4" 31 30.3 - - : —
63 222 | 183 90 245 223 90 0-1.6 8.6 3-1.2 g.§-0.4
" 63 0-0.5 .5 -1. .3-0.7
DN50| 90 [266 | 232 | 230 |3 | 16 |125|4-18| 49 | 100 | 165 DN40 G11/2 35 423 90 16 06 016 0205
63 210 | 175 63 0-035 05 008 03-0.75
125 |315 | 287 -0. . -0. .3-0.
90 |340 | 265 DN40 % 64 56.5 40 33 160 255 223 DN50 G2" 45 60.7 90 0-1.3 0.6 0-1.6 0.2-0.6
DN65 290 |3 | 18 |145|4-18|66 | 120 | 185 125 0-1.6 06 0-1.6 0.2:04
125 375 | 302 o3 291 185 DN65 212" 61 90,5 19205 g:?g gg g:} ; OOéZ_;)O:S
DN80| 125 [387 | 313 |{310/380| 3 | 20 [160|8-¢18| 78 | 135 | 200 DN50 64 56.5 53 45 175 DN80 G3" 80 135.1 125 0-0.6 0.6 0-1.6 0.2-0.65
DN100| 125 410 | 382 | 350 |3 | 20 |180|8-¢18| 96 | 155 | 215 90 265 235 DN100 G4" 90 158.4 125 0-0.25 0.6 0-1.2 0.4-0.5

38 39



GEKO Fluid Control GmbH

CONTROL-VALVES

# Maximum pressure: 20000PSI<br>

||
HIGH PREEESURE BALL VALVE PRODUCT DESCRIPTION

#Connection standard:DNIS0228. ANSIB1.20.1. DIN2353L. DIN2353S. SAEJ514<br>

# Seal material: NBR. FPM. POM<br>

2/2 WAY HIGH PREEESURE BALL VALVE (SCREWED END)

—

—— BKH/BKHP420
PN25-50 MPa
d DN4-25/40

{carbon
steel/stainless steel)

2/2 WAY HIGH PREEESURE BALL VALVE (WELD END)

<&

BKH-AS

PN16 MPa
DN10-25/40

({ carbon steel/
stainless steel)

BKH

PN25-50 MPa

DN4-25/40
{carbon steel )

MKHP-AS [ MKH-AS
PN16 MPa
DN32-50/65
{carbon steel/
stainless steel)

2/2 WAY HIGH PREEESURE BALL VALVE (SAE FLANGED END)

MKHP-SAE /
MKH-SAE

= PN21-42 MPa S ?‘
@ DN32-50/65 =
= {carbon
steel/stainless steel)

3/2 WAY HIGH PREEESURE BALL VALVE

BK3

PN31.5-50 MPa

DN4-50
{carbon steel )

40

MKHP-SAEFS /
MKH-SAEFS
PN21-42 MPa
DN32-50

{carbon
steel/stainless steel )

BK3K-SAE

PN42 MPa

DN13-50
{carbon steel )

MKHP420/MKH
PN31.5-42 MPa
DN32-50
{carbon steel/
stainless steel)

KH-SAE

Metric thread
PN21/42 MPa
DM15-80 (carbon
steel)

3KH

PN25-50 MPa
DN4-25/40

(carbon
steel/stainless steel)

GEKO

CONTROL-VALVES Cryogenic Valve

MODEL NO:GKV-134D / 3PC Cryogenic valve---threaded, butt weld, socket weld / 3PC DIRECT MOUNT BALL VALVE

1/4"-2"2000 PSI,
2-1/2"-4"1000PSI

e FACE TO FACE COMPLIES WITH DIN3202-M3 S13

e EACH INTGRATED ISO-5211 MOUNTING PAD

e SQUARE STEM CAN BE WITH DIRECT MOUNT WITHOUT
BRACKET/ADAPTOR

e STEMIS WITH BLOW-OUT PROOF DESIGN AS WELL AS
ANTI-STATIC DEVICE

® VITON O-RING ON STEM GIVES EXTRA SUPPORT AND
ASSURANCE OF TIGHTNESS.

e STEMSEALISWITH 45 ANGLE AGAINST STEM,WHICH
INCREASES TIGHTING EFFECT.

e EXCEPT ACTUATING SERVICE,HANDLE LEVER IS
AVAILABLE FOR MANUAL OPEATION.

e BODY WORKING PRESSURE:2000 PSI
e SIZE:1/4"-2" (DE8-DN50)
e TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 3000PSI
e BODY WORKING PRESSURE : 1000 PSI
® SIZE : 2-1/2"-4" (DN65-DN100)
e TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 1500PSI

MODEL NO : GKV-225D / 2PC Cryogenic valve---Flange / 2PC BALL VALVE

', |
| 25

1/2'-4"150LB. . DN15-DN50
PN10/40. DN65-DN100 PN10/16

® BLOW-OUT PROOF STEM.
® BUILT-IN ISO 5211 MOUNTING PAD
FOR EASY AUTOMATION.

® ANTI-STATIC DEVICES FOR BALL-STEM-BODY.

® SEMI-ENCAPSULATED BALL SEATS FOR
COLD FLOW RESISTANCE.

e BODY WORKING PRESSURE : 150LB

e S|ZE: 1/2"-4"

® BODY WORKING PRESSURE : PN10/40

® SIZE : DN15-DN50

® BODY WORKING PRESSURE : PN10/16

® SIZE : DN65-DN100

e WIDE RANGE OF SEAT MATERIAL SELECTION .
(SEE CATALOG BV SEAT CATALOG)
e HEAVY DUTY BODY & END CAP CONSTRUCTION WITH
TRACEABLE HEAT NUMBER.
® PRESSURE BALANCE HOLE IN BALL SLOT.
e PRESSURE SELF RELIEF SEAT TO PREVENT PRESSURE
BUILT UP
® VVITON O-RING ON STEM GIVES EXTRA SUPPORT
AND ASSURANCE OF TIGHTNESS.

41



GEKO

CONTROL-VALVES

MODEL NO : GKV-32T/B 3PC HIGH PURITY CLEAN BALL VALVE

1/2"-4" 1000PSI
3PC High Purity Clean Ball Valve-TUBE. SCH5. SCH10

® BLOW-OUT PROOF STEM.

e BUILT-IN ISO5211 MOUNTING PAD FOR EASY AUTOMATION

e STRALGHT TRUE PORT FOR UNINTERRUPTED FLOW
MEDIA THRU THE VALVE

e FULL PORT FOR TUBING BUTT-WELD

® BOSSES FOR PURGE CONNECTIONS ARE BUILT INTO
BODY AND CAP FOR SIP/CIP OPERATIONS

® ALL WETTED PARTS ARE POLISHED TO 180 GRIT RMS 0.51
TO 0.64 MICRON

® SWING-OUT 3PC DESIGN FOR EASY FIELD
MAINTENANCW,

e ALL EXTEND WELD ENDS IN SS316L MATERIAL ALLOWS
ORBITAL WELDING IN PLACE.

MODEL NO : GKV-33W/T/B/L 3PC BALL VALVE

1/4"-4 1000PSI 1/4"-4 1000PSI
3PC Direct Mount 3PC High Purity Clean Ball
Ball Valve-threaded, Valve-TUBE. SCH5. SCH10

butt weld, socket weld

e BLOW-OUT PROOF STEM

® STAINLESS STEEL BALL AND STEM ARE STANDARD

e PRECISION INVESTMENT CAST BODY AND CAPS

® EASY INSTALLATION WITH WIDE SELECTION OF END
FITTINGS

® THREE-PIECE SWING-OUT DESIGN ALLOWS IN-LINE
MAINTENANCE

e FULL PORT ORIFICE MINIMIZES PRESSURE DROP
ACROSS THE PIPELINE

e HELIUM LEAKAGE TEST-INTERNAL<10-5,
EXTERNAL<10-6.

42

1/4"-4" 1000PSI
3PC High Purity Clean
Ball Valve-T-CLAMP

High Purity Clean Ball Valve

1/2"-4" 1000PSI
3PC High Purity Clean Ball Valve-T-CLAMP

® HIGH PURITY CLEANING OIL FREE AND
PACKING.

o VITON O-RING ON STEM GIVES EXTRA
SUPPORT AND ASSURANCE OF
TIGHTNESS.

® BODY WORKING PRESSURE : 1000 PSI

(PN64)

® S|ZE:1/2"-4" (DN15-DN100)

e TEST PRESSURE
SEAT(AIR) :80PSI

SHELL(HYDROSTATIC) : 1500PSI

;Z{

1/4"-1"RP 1000PSI
3PC Metric Inch LOK

e SELF-ADJUSTING FLOATING BALL
ENABLES TIGHT INTERNAL SEAL

e BODY WORKING PRESSURE : 1000 PSI
(PN64)

e S|ZE:1/4"-4" (DN 8-DN100)
TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 1500PSI

e TEST HAVE PASSED ON METAL
INDUSTRY RESEARCH AND
DEVELOPMENT CENTER"HELIUM
LEAKAGE TEST".

GEKQO

CONTROL-VALVES High Purity Clean Ball Valve

MODEL NO : GKV-36W / 3PC DIRECT MOUNT Ball Valve-TUBE. SCH5. SCH10

1/2"-2" 2000PSI

e FACE TO FACE COMPLIES WITH DIN3202-M3 S13
® EACH INTGRATED ISO-5211 MOUNTING PAD
® SQUARE STEM CAN BE WITH DIRECT MOUNT WITHOUT

e TEST PRESSURE
SEAT(AIR) : 80PSI
SHELL(HYDROSTATIC) : 3000PSI

BRACKET/ADAPTOR ® | SIZE:1/2"-4" (DN65-DN100)
e STEM IS WITH BLOW-OUT PROOF DESIGN AS WELL AS ® BODY WORKING PRESSURE :
ANTI-STATIC DEVICE 1000 PSI
e VITON O-RING ON STEM GIVES EXTRA SUPPORT AND e TEST PRESSURE
ASSURANCE OF TIGHTNESS. SEAT(AIR) : 80PSI

e STEM SEAL IS WITH 45 ANGLE AGAINST STEM,WHICH
INCREASES TIGHTING EFFECT . ® SIZE:5"-6" (DN125-DN150 )
e EXCEPT ACTUATING SERVICE , HANDLE LEVER IS e BODY WORKING PRESSURE :

AVAILABLE FOR MANUAL OPERATION. 720 PSI
® BODY WORKING PRESSURE : 2000 PSI e TEST PRESSURE
® S|IZE :1/2"-2" (DN15-DN50) SEAT(AIR) : 80PSI

® BODY WORKING PRESSURE : 2000 PSI SHELL(HYDROSTATIC) : 1100PSI

SHELL(HYDROSTATIC) : 1500PSI

Valve components processing

9?9% ® G

Germany DMU 60T MONO BLOCK Five-axis processor Germany 835V MONO BLOCK Four-axis processor
Germany 635V MONO BLOCK Three-axis processor ~ CNC lathes processor 2.5D Image testing machine

A

43



